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1. �$�$��,  �%��&�,�-�$�$�%�����  �$��$���  �������$� 
��  %��&���,��%&�  131 «�$�������  ��%�����» 

1. �474?L=4 V=D>D<4FVO 

�>6=4 =4764 74>?44G 
6<M>W >E6VF< F4 
EFDG>FGD=>7> ?V4D>74V?G 

�4FV>=4?L=<= G=V65DE<F5F «�L6V6EL>4 ?>?VF5E=V>4» 

�=EF<FGF V=65=5D=>W <5E4=V>< F4 FD4=E?>DFG 

�4D54D4 «�4DF>747>64 V=65=5DVO F4 764DN64==O» 

�4D54D4 «$>5>F>F5E=V>4 F4 V=F57D>64=V F5E=>?>7VW 

<4L<=>5G4G64==O» 

$V65=L 6<M>W >E6VF< �5DL<= (54>4?46DEL><=) DV65=L 

%FG?V=L 6<M>W >E6VF< �4>4?46D 

�4?G7L 7=4=L 13 «�5E4=VG=4 V=65=5DVO» 

%?5FV4?L=VEFL  131 «�D<>?44=4 <5E4=V>4» 

�DVFV==4 =4764 
�D>7D4<< 

�D<>?44=4 <5E4=V>4 

Applied mechanics 

�E6VF=O >64?VDV>4FVO �4>4?46D 7 ?D<>?44=>W <5E4=V>< 

&<? 4<??><G F4 >5EO7 
�D>7D4<< 

�<??>< 54>4?46D4. 

�5EO7 >D54<FV6 ��&% (�6D>?5=EL>>W >D54<F=>-FD4=ED5D=>W 

E<EF5<<), =5>5EV4=<= 4?O 74>5GFFO ?5DL>7> (54>4?46DEL>>7>) 

DV6=O 6<M>W >E6VF<: 

- =4 547V 7474?L=>W E5D54=L>W >E6VF< 3 240 >D54<FV6 ��&%, F5D<V= 

=46G4==O 3 4 D>><; 

- =4 547V EFG?5=O «<>?>4L<= 54>4?46D» (>E6VF=L>-

>64?VDV>4FV==<= DV65=L «<>?>4L<= E?5FV4?VEF») 3 180 >D54<FV6 

��&%; F5D<V= =46G4==O 3 3 D>><; 
�V=V<G< 50% >5EO7G �D>7D4<< E?DO<>6GTFLEO =4 74557?5G5==O 

7474?L=<E F4 E?5FV4?L=<E (D4E>6<E) >><?5F5=F=>EF5= 74 

E?5FV4?L=VEFN, 6<7=4G5=<E %F4=44DF>< 6<M>W >E6VF<.  

�V=V<4?L=<= >5EO7 ?D4>F<>< 74 65EL ?5DV>4 =46G4==O 3 

6 >D54<FV6 ��&%. 

&<>? / DV65=L �$� '>D4W=< 3 7 DV65=L, FQ-EHEA 3 ?5DL<= F<>?, �QF-LLL 3 

6 DV65=L 

�5D54G<>6< �>6=4 E5D54=O 7474?L=4 >E6VF4 45> >E6VF=L>->64?VDV>4FV==<= 

DV65=L «�>?>4L<= E?5FV4?VEF» (EFG?V=L «�>?>4L<= 54>4?46D») 

�5<565==O M>4> D>D< 
=46G4==O 

�5<565==O 6V4EGF=V 

�>64(<) 6<>?444==O '>D4W=EL>4 <>64 

�E=>6=V ?>=OFFO F4 
6<7=4G5==O 

' �D>7D4<V 6<>>D<EF4=> >E=>6=V ?>=OFFO F4 WE 6<7=4G5==O, 

6V4?>6V4=> 4> �4>>=G '>D4W=< «�D> 6<MG >E6VFG» 7 1556-VII 6V4 

01.07.2014 D. 7V 7<V=4<< F4 4>?>6=5==O<< F4 %F4=44DFG 6<M>W 

>E6VF< '>D4W=< 74 E?5FV4?L=VEFN 131 «�D<>?44=4 <5E4=V>4» 4?O 

?5DL>7> (54>4?46DEL>>7>) DV6=O 6<M>W >E6VF<, 74F65D465=>7> 

=4>47>< �V=VEF5DEF64 >E6VF< V =4G>< '>D4W=< 7 865 6V4 

20.06.2019 D. 

�4O6=VEFL 4>D54<F4FVW  

�=F5D=5F-44D5E4 
D>7<VM5==O �D>7D4<< 

https://lpnu.ua/osvita/pro-osvitni-programy/pershyi-riven-vyshchoi-

osvity 
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2. �5F4 �D>7D4<< 

 �444==O F5>D5F<G=<E 7=4=L F4 ?D4>F<G=<E G<V=L V =46<G>>, 

4>EF4F=VE 4?O D>769O7G64==O E>?44=<E E?5FV4?V7>64=<E 7444G F4 

6<DVL5==O ?D4>F<G=<E ?D>5?5< 7 ?D<>?44=>W <5E4=V><, O>V 

E4D4>F5D<7GNFLEO >><??5>E=VEFN F4 =56<7=4G5=VEFN G<>6, ?D< 

6<>>=4==V D4EV6F5< ?D>D5EV==>W 4VO?L=>EFV G ED5DV >5D4=>W 

E?5FV4?V74FVW F4 ?>44?LL>7> =46G4==O =4 4DG7><G 

(<47VEF5DEL>><G) DV6=V 6<M>W >E6VF<. 

3. %4D4>F5D<EF<>4 �D>7D4<< 

�D54<5F=4 >5?4EFL �59T>F 4VO?L=>EFV: >>=EFDG>FVW, <4L<=<, GEF4F>G64==O, 

<5E4=VG=V V 5V><5E4=VG=V E<EF5<< F4 >><??5>E<, ?D>F5E< WE 

>>=EFDGN64==O, F5E=>?>7VW 6<7>F>6?5==O, 4>E?V465==O F4 

5>E??G4F4FVW. 

&V?V =46G4==O: ?D>D5EV==4 V=65=5D=4 4VO?L=VEFL G 74?G7V 

?D>5>FG64==O, 6<D>5=<FF64 F4 5>E??G4F4FVW F5E=VG=<E E<EF5<, 

<4L<= V GEF4F>G64==O, D>5>F>F5E=VG=<E 74E>5V6 F4 >><??5>EV6, 

D>7D>5?5==O F5E=>?>7V= <4L<=>5G4V6=<E 6<D>5=<FF6. 

&5>D5F<G=<= 7<VEF ?D54<5F=>W >5?4EFV: 7474?L=V 74>>=< 

F5>D5F<G=>W <5E4=V><, <5E4=V>< DV4<=< V 747V6 F4 WE ?D<>?44=V 

74EF>EG64==O; >E=>6=V ?>?>65==O 6<5>DG >>=EFDG>FV==<E 

<4F5DV4?V6 7 GD4EG64==O< WE ?>654V=>< 6 F5E=>?>7VG=<E ?D>F5E4E 

>5D>5?5==O 45F4?5= <4L<= V >>=EFDG>FV=; F5>D5F<G=V 74E44< 

>>=EFDGN64==O <4L<=, D>7D>5?5==O F5E=>?>7V= <4L<=>5G4V6=<E 

6<D>5=<FF6 V ?D>7=>7G64==O 5>E??G4F4FV==<E 6?4EF<6>EF5= 

F5E=VG=<E E<EF5<. 

�5F>4<, <5F>4<>< F4 F5E=>?>7VW: DV7<>>-<4F5<4F<G=V <5F>4< 

D>7D4EG=>G EF4F<><, 4<=4<V>< F4 EFV=>>EFV 5?5<5=FV6 V 

>>=EFDG>FV=; 4=4?VF<G=V, G<E5?L=V = 4?7>D<F<VG=V <5F>4< 

<>45?N64==O >V=5<4F<>< F4 4<=4<V>< <4L<=, 4=4?V7G F4 

<>45?N64==O =4?DG65=>-45D>D<>64=>7> EF4=G 5?5<5=FV6 

>>=EFDG>FV=; <5F>4<>< ?D>5>FG64==O, >>=FD>?N, <>=VF>D<=7G, 

4V47=>EF<>< F4 ?D>7=>7G64==O EF4=G >>=EFDG>FV= F4 WE E>?44>6<E; 

D>7D>5?5==O F5E=>?>7V= 6<7>F>6?5==O V E>?444==O 5?5<5=FV6 

<4L<= F4 >>=EFDG>FV=; V=D>D<4FV==V F5E=>?>7VW 6 V=65=5D=<E 

4>E?V465==OE, ?D>5>FG64==V V 6<D>5=<FF6V; <5F>4< F4 74E>5< 

G<E?>6>7> ?D>7D4<=>7> >5DG64==O F5E=>?>7VG=>7> GEF4F>G64==O; 

F5E=>?>7VW 46F><4F<7>64=<E <4L<=>5G4V6=<E 6<D>5=<FF6. 

�=EFDG<5=F< F4 >5?44=4==O: 65DEF4F<, V=EFDG<5=F<, 

F5E=>?>7VG=V F4 >>=FD>?L=V ?D<EFD>W, >>=FD>?L=>-6<<VDN64?L=V 

74E>5<, E<EF5<< G<E?>6>7> ?D>7D4<=>7> >5DG64==O, ?D<6>4< 

65DEF4F=<E F4 D>5>F>F5E=VG=<E E<EF5<, >5?44=4==O F4 <4F5DV4?< 

F5E=>?>7V= 764DN64==O V 6V4=>6?5==O. 

�DVT=F4FVO �D>7D4<< �D>7D4<4 547GTFLEO =4 7474?L=>6V4><<E ?>?>65==OE F4 

D57G?LF4F4E EGG4E=<E =4G>>6<E 4>E?V465=L 7 ?D<>?44=>W <5E4=V>< 

= 4>F5=FGTFLEO =4 D>769O74==V E?5FV4?V7>64=<E 7444G V 6<DVL5==V 

?D4>F<G=<E ?D>5?5<, M> ?5D5454G4T 74EF>EG64==O 6V4?>6V4=<E 

F5>DV= V <5F>4V6. 
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�E=>6=<= D>>GE 
�D>7D4<< 

�474?L=4 6<M4 >E6VF4 F4 ?D>D5EV==4 ?V47>F>6>4 6 >5?4EFV 

?D<>?44=>W <5E4=V><, 7>>D5<4 ?V47>F>6>4 D4EV6FV6, 744F=<E 4> 

4=4?V7G, ?D>7=>7G64==O V ?D<==OFFO DVL5=L ?D< ?D>5>FG64==V, 

>>=EFDGN64==V, 6<7>F>6?5==V, 5>E??G4F4FVW F4 D5<>=FV >59T>FV6 V 

E<EF5< G <4L<=>5G4G64==V. 

�D>7D4<4 <4T LVEFL ?D>D5EV==<E ?V=V=: 

�� 1. $>5>F><5E4=VGV E<EF5<< F4 >><??5>E< 

�� 2. �=65=5DVO ?>7VEF<G=<E E<EF5<; 

�� 3. &5E=>?>7VW <4L<=>5G4G64==O; 

�� 4. �4L<=< V F5E=>?>7VW ?4>>64==O; 

�� 5. &5E=>?>7VW F4 GEF4F>G64==O 764DN64==O; 

�� 6. �V4=>6?5==O F4 ?V46<M5==O 7=>E>EFV=>>EFV 45F4?5= V 

>>=EFDG>FV=. 

�?NG>6V E?>64: 46F><4F<74FVO 6<D>5=<FF64, 6<<VDN64==O, 

4V47=>EF<>4 <5F4?>>>=EFDG>FV=, 764DN64==O, 764D=V 79T4=4==O, 

764D=V >>=EFDG>FVW, >>=FD>?L 6<D>5V6, ?>7VEF<>4 6<D>5=<G<E 

?D>F5EV6, ?>7VEF<G=V E<EF5<<, ?4>G64?L=5 >5?44=4==O, 

D>5>F><5E4=VG=V E<EF5<<, D>5>F><5E4=VG=V >><??5>E<, E<EF5<< 

>5DG64==O, F5E=>?>7VG=5 >E=4M5==O, F5E=>?>7VG=5 GEF4F>G64==O, 

F5E=>?>7VW 6<7>F>6?5==O, F5E=>?>7VW 6V4=>6?5==O, F5E=>?>7VW 

764DN64==O, F5E=>?>7VW =4??46?5==O, F5E=>?>7VW >5D>5?5==O, 

F5E=>?>7VW ?4>G64==O, F5E=>?>7VW ?V46<M5==O 7=>E>EFV=>>EFV, 

F5E=>?>7VG=V ?D>F5E< 6<7>F>6?5==O 6<D>5V6. 

�E>5?<6>EFV �D>7D4<< %?DO<>64=VEFL =4 74557?5G5==O >FD<<4==O 74>5G64G5< 6<M>W 

>E6VF< 7474?L=<E F4 D4E>6<E >><?5F5=FV= 7 >>D5<<E ?D>D5EV==<E 

?V=V= (E?5FV4?V74FV=) ?D>7D4<< 74 D4EG=>> D>D<G64==O 

E?5FV4?V7>64=<E >E6VF=VE FD4T>F>DV= F4 EFG45=F>F5=FD>64=>EFV 

>E6VF=L>7> ?D>F5EG. 

�D>D5EV==4 ?V=VO 1. $>5>F><5E4=VG=V E<EF5<< F4 >><??5>E<. 

�D>7D4<4 D>76<64T ?5DE?5>F<6=V =4?DO<>< <>45?N64==O, 

?D>5>FG64==O, >>=EFDGN64==O = 5>E??G4F4FVW 74E>5V6 

46F><4F<74FVW 6<D>5=<FF64, D>5>F><5E4=V=<E E<EF5< F4 

>><??5>EV6, O>V 6<>>D<EF>6GNFLEO G ?D><<E?>6>EFV. 

�D>D5EV==4 ?V=VO 2. �=65=5DVO ?>7VEF<G=<E E<EF5<. �D>7D4<4 

D>76<64T ?5DE?5>F<6=V =4?DO<>< EF6>D5==O, <>45?N64==O = 

5>E??G4F4FVW ?>7VEF<G=<E E<EF5< V >><??5>EV6, O>V 74EF>E>6GNFLEO 

=4 6<D>5=<FF6V 4?O 74557?5G5==O DGEG <4F5DV4?L=<E ?>F>>V6, 

674T<>4VW DV7=<E F5E=>?>7VG=<E ?D>F5EV6 6<7>F>6?5==O 6<D>5V6, 

?4>G64==O, E>?44G64==O F4 E5D6VEG, D>7D>5?5==O 46F><4F<7>64=>7> 

>5?44=4==O 4?O ?>7VEF<G=<E E<EF5<. 

�D>D5EV==4 ?V=VO 3. &5E=>?>7VW <4L<=>5G4G64==O. �D>7D4<4 

D>76<64T ?5DE?5>F<6=V =4?DO<>< ?D>5>FG64==O, >>=EFDGN64==O, 

<>45?N64==O = >?F<<V74FVW EGG4E=<E F5E=>?>7VG=<E ?D>F5EV6 

6<7>F>6?5==O, E>?444==O F4 D5<>=FG 6<D>5V6, D>7D>5?5==O 

F5E=>?>7VG=>7> >E=4M5==O F4 >5?44=4==O ?D< 74EF>EG64==V 

EGG4E=<E <5F4?>DV74?L=<E 65DEF4FV6 F4 46F><4F<7>64=<E 

>><??5>EV6 =4 <4L<=>5G4V6=><G 6<D>5=<FF6V. 

�D>D5EV==4 ?V=VO 4. �4L<=< V F5E=>?>7VW ?4>>64==O. 

�D>7D4<4 D>76<64T ?5DE?5>F<6=V =4?DO<>< ?D>5>FG64==O, 

>>=EFDGN64==O, <>45?N64==O = >?F<<V74FVW F5E=>?>7V= ?4>>64==O, 

?4>G64?L=>7> >5?44=4==O, 74E>5V6 46F><4F<74FVW ?5D5<VMG64==O, 
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?4>>64==O, 755DV74==O 6<D>5V6 V ?D>4G>FVW, EF6>D5=<E =4 

?V4?D<T<EF64E DV7=<E 74?G75= ?D><<E?>6>EFV. 

�D>D5EV==4 ?V=VO 5. &5E=>?>7VW F4 GEF4F>G64==O 764DN64==O. 

�D>7D4<4 D>76<64T ?5DE?5>F<6=V =4?DO<>< ?D>5>FG64==O, 

<>45?N64==O = >?F<<V74FVW F5E=>?>7V= 6<7>F>6?5==O, 6<D>5V6 

764DN64==O< F4 E?>DV4=5=<<< ?D>F5E4<<, =>6VF=L>7> 

F5E=>?>7VG=>7> >E=4M5==O = GEF4F>G64==O 4?O 764DN64==O ?D< 

6<7>F>6?5==V 6<D>5V6 V >>=EFDG>FV= 7 DV7=<E >>=EFDG>FV==<E 

<4F5DV4?V6 4?O DV7=<E 74?G75= ?D><<E?>6>EFV F4 FD4=E?>DFG. 

�D>D5EV==4 ?V=VO 6. �V4=>6?5==O F4 ?V46<M5==O 
7=>E>EFV=>>EFV 45F4?5= V >>=EFDG>FV=. �D>7D4<4 D>76<64T 

?5DE?5>F<6=V =4?DO<>< ?D>5>FG64==O, <>45?N64==O = >?F<<V74FVW 

F5E=>?>7V= V GEF4F>G64==O, 4V47=>EF<><, 6V4=>6?5==O 

<5F4?>>>=EFDG>FV= V 6<D>5V6, 74557?5G5==O V 6V4=>6?5==O D5EGDEG, 

=44V==>EFV F4 557?5>< <4L<=, >>=EFDG>FV=, E?>DG4, GEF4=>6>>, 

47D574FV6, GEF4F>G64==O, D>7D>5?5==O F5E=>?>7V= V GEF4F>G64==O 

4?O ?V46<M5==O 7=>E>EFV=>>EFV V 6V4=>6?5==O 45F4?5= V 

>>=EFDG>FV= 4?O DV7=<E 74?G75= ?D><<E?>6>EFV F4 FD4=E?>DFG. 

4. �D<44F=VEFL 6<?GE>=<>V6 4> ?D4F56?4LFG64==O F4 ?>44?LL>7> =46G4==O 

�D<44F=VEFL 4> 
?D4F56?4LFG64==O 

�4>4?46D 7 ?D<>?44=>W <5E4=V>< ?V47>F>6?5=<= 4> 

?D4F56?4LFG64==O F4 6<>>=4==O ?D>D5EV==<E D>5VF 74 6<44<< 

5>>=><VG=>W 4VO?L=>EFV, 6V4?>6V4=> 4> �?4E<DV>4F>D4 ?D>D5EV= 

�� 0032010, O>V ?>69O74=V 7 6<>>=4==O< ?D>D5EV==>W 4VO?L=>EFV 

(?D>5>F=>W, >>=EFDG>F>DEL>>W, 6<D>5=<G>W, >>=FD>?L=>W, 

>D74=V74FV==>W, G?D46?V=EL>>W, 5>E??G4F4FV==>W, E5D6VE=>W, 

=4G>>6>-4>E?V4=<FL>>W) =4 ?V4?D<T<EF64E, >D74=V74FVOE DV7=<E 

ED5D 4VO?L=>EFV <4L<=>5G4V6=>W V E?>DV4=5=<E 74?G75= 5>>=><V>< 

F4 FD4=E?>DFG. 

�>445<VG=V ?D464 
6<?GE>=<>V6 

�>6?<6VEFL ?D>4>665==O =46G4==O =4 4DG7><G (<47VEF5DEL>><G)  

DV6=V 6<M>W >E6VF<, >FD<<4==O 4>44F>>6<E >64?VDV>4FV= G E<EF5<V 

?VE?O4<??><=>W >E6VF<. 

5. �<>?444==O F4 >FV=N64==O 

�<>?444==O F4 =46G4==O �>T4=4==O ?5>FV=, ?45>D4F>D=<E F4 ?D4>F<G=<E 74=OFL, 

E4<>EFV==>W D>5>F< EFG45=FV6 7 6<>>D<EF4==O< ?V4DGG=<>V6, 

=46G4?L=<E ?>EV5=<>V6, >>=E?5>FV6 ?5>FV=, <5F>4<G=<E 6>47V6>>, 

74EF>EG64==O 6VDFG4?L=>7> =4G4?L=>7> V=F5D=5F-E5D54>6<M4, 

6<>>D<EF4==O E?5FV4?L=>7> >><?9NF5D=>7> ?D>7D4<=>7> 

74557?5G5==O, >>=EG?LF4FVW 7 6<>?444G4<<, 6<>>=4==O >GDE>6<E 

?D>5>FV6 V D>5VF, ?D>E>465==O GEVE 6<4V6 ?D4>F<>, 6<>>=4==O  

54>4?46DEL>>W >64?VDV>4FV==>W D>5>F<. 

�FV=N64==O �>74<5=<, 4<D5D5=FV=>64=V F4 =54<D5D5=FV=>64=V 74?V><, 74E<EF 

>GDE>6<E ?D>5>FV6 V D>5VF, ?G5?VG=<= 74E<EF 54>4?46DEL>>W 

>64?VDV>4FV==>W D>5>F<. 

6. �D>7D4<=V >><?5F5=F=>EFV 

�=F57D4?L=4 
>><?5F5=F=VEFL (��&) 

��&. �44F=VEFL D>769O7G64F< E>?44=V E?5FV4?V7>64=V 7444GV F4 

6<DVLG64F< ?D4>F<G=V ?D>5?5<< 6 >5?4EFV ?D<>?44=>W <5E4=V>< 

45> G ?D>F5EV =46G4==O, M> ?5D5454G4T 74EF>EG64==O ?56=<E 

F5>DV= F4 <5F>4V6 <5E4=VG=>W V=65=5DVW = E4D4>F5D<7GTFLEO 

>><??5>E=VEFN F4 =56<7=4G5=VEFN G<>6. 
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�474?L=V >><?5F5=F=>EFV 
(��) 

��1. �44F=VEFL 4> 45EFD4>F=>7> <<E?5==O, 4=4?V7G F4 E<=F57G. 

��2. �=4==O F4 D>7G<V==O ?D54<5F=>W >5?4EFV, D>7G<V==O 

?D>D5EV==>W 4VO?L=>EFV. 

��3. �<V==O 6<O6?OF<, EF46<F< F4 6<DVLG64F< ?D>5?5<<. 

��4. �44F=VEFL 74EF>E>6G64F< 7=4==O G ?D4>F<G=<E E<FG4FVOE. 

��5. �44F=VEFL ?D4FN64F< 6 >><4=4V. 

��6. �<7=4G5=VEFL V =4?>?57?<6VEFL M>4> ?>EF46?5=<E 74644=L V 

67OF<E >5>69O7>V6. 

��7. �44F=VEFL 6G<F<EO = >6>?>4V64F< EGG4E=<<< 7=4==O<<. 

��8. �44F=VEFL E?V?>G64F<EO V=>75<=>N <>6>N, G F.G. 3 

F5E=VG=>N. 

��9. �46<G>< 6<>>D<EF4==O V=D>D<4FV==<E V >><G=V>4FV==<E 

F5E=>?>7V=. 

��10. �46<G>< 74V=E=5==O 557?5G=>W 4VO?L=>EFV. 

��11. �44F=VEFL 4VOF< E>FV4?L=> 6V4?>6V44?L=> F4 E6V4><>. 

��12. �44F=VEFL 4> ?>LG>G, >5D>5?5==O F4 4=4?V7G V=D>D<4FVW 7 

DV7=<E 465D5?. 

��13. �44F=VEFL >FV=N64F< F4 74557?5GG64F< O>VEFL 6<>>=G64=<E 

D>5VF. 

��14. �44F=VEFL D54?V7G64F< E6>W ?D464 = >5>69O7>< O> G?5=4 

EGE?V?LEF64, GE6V4><?N64F< FV==>EFV 7D><44O=EL>>7> (6V?L=>7> 

45<>>D4F<G=>7>) EGE?V?LEF64 F4 =5>5EV4=VEFL =>7> EF4?>7> 

D>76<F>G, 65DE>65=EF64 ?D464, ?D46 V E6>5>4 ?N4<=< V 

7D><44O=<=4 6 '>D4W=V. 

��15. �44F=VEFL 755DV74F< F4 ?D<<=>6G64F< <>D4?L=V, >G?LFGD=V, 

=4G>>6V FV==>EFV V 4>EO7=5==O EGE?V?LEF64 =4 >E=>6V D>7G<V==O 

VEF>DVW F4 74>>=><VD=>EF5= D>76<F>G ?D54<5F=>W >5?4EFV, WW <VEFO G 

7474?L=V= E<EF5<V 7=4=L ?D> ?D<D>4G V EGE?V?LEF6> F4 G D>76<F>G 

EGE?V?LEF64, F5E=V>< V F5E=>?>7V=, 6<>>D<EF>6G64F< DV7=V 6<4< F4 

D>D<< DGE>6>W 4>F<6=>EFV 4?O 4>F<6=>7> 6V4?>G<=>G F4 6545==O 

74>D>6>7> E?>E>5G 6<FFO. 
��16. �44F=VEFL GE64?N64F< DVL5==O F4 4VOF<, 4>FD<<GNG<EL 

?D<=F<?G =5?D<?GEF<<>EFV >>DG?FVW F4 5G4L-O><E V=L<E ?D>O6V6 

=54>5D>G5E=>EFV. 

%?5FV4?L=V 
(D4E>6V, ?D54<5F=V) 
>><?5F5=F=>EFV ($�) 

$�1. �44F=VEFL 4=4?V7G64F< <4F5DV4?<, >>=EFDG>FVW F4 ?D>F5E< =4 

>E=>6V 74>>=V6, F5>DV= F4 <5F>4V6 <4F5<4F<>< V ?D<D>4=<G<E =4G>, 

G F.G. 3 ?D<>?44=>W <5E4=V><. 

$�2. �44F=VEFL D>5<F< >FV=>< ?4D4<5FDV6 ?D4F5744F=>EFV 

<4F5DV4?V6, >>=EFDG>FV= V <4L<= 6 5>E??G4F4FV==<E G<>64E F4 

7=4E>4<F< 6V4?>6V4=V DVL5==O 4?O 74557?5G5==O 7444=>7> DV6=O 

=44V==>EFV >>=EFDG>FV= V ?D>F5EV6, G F.G. 374 =4O6=>EFV ?56=>W 

=56<7=4G5=>EFV. 

$�3. �44F=VEFL ?D>6>4<F< F5E=>?>7VG=G V F5E=V>>-5>>=><VG=G 

>FV=>G 5D5>F<6=>EFV 6<>>D<EF4==O =>6<E F5E=>?>7V= V F5E=VG=<E 

74E>5V6. 

$�4. �44F=VEFL 74V=E=N64F< >?F<<4?L=<= 6<5VD F5E=>?>7VG=>7> 

>5?44=4==O, >><??5>F4FVN F5E=VG=<E >><??5>EV6, <4F< 547>6V 

GO6?5==O ?D> ?D46<?4 WE 5>E??G4F4FVW. 

$�5. �44F=VEFL 6<>>D<EF>6G64F< 4=4?VF<G=V, EF4F<EF<G=V F4 

G<E5?L=V <4F5<4F<G=V <5F>4< 4?O D>769O74==O 7444G ?D<>?44=>W 

<5E4=V><, 7>>D5<4 74V=E=N64F< D>7D4EG=>< =4 <VF=VEFL, 

6<FD<64?VEFL, EFV=>VEFL, 4>67>6VG=VEFL, 6>DEF>VEFL 6 ?D>F5EV 
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EF4F<G=>7> F4 4<=4<VG=>7> =464=F465==O 7 <5F>N >FV=N64==O 

=44V==>EFV F4 ?D>7=>7G64==O D5EGDEG 45F4?5= V >>=EFDG>FV= 

<4L<=. 

$�6. �44F=VEFL 6<>>=G64F< F5E=VG=V 6<<VDN64==O, >FD<<G64F<, 

4=4?V7G64F< F4 >D<F<G=> >FV=N64F< D57G?LF4F< 6<<VDN64=L. 

$�7. �44F=VEFL 74EF>E>6G64F<  >><?9NF5D<7>64=V E<EF5<< 

?D>5>FG64==O (CAD), 6<D>5=<FF64 (CAM), V=65=5D=<E 

D>7D4EG=>V6 (CAE) F4 E?5FV4?V7>64=5 ?D<>?44=5  ?D>7D4<=5 

74557?5G5==O 4?O 6<DVL5==O V=65=5D=<E 74644=L 7 ?D<>?44=>W 

<5E4=V><. 

$�8. �44F=VEFL 4> ?D>EF>D>6>7> <<E?5==O V 6V4F6>D5==O 

?D>EF>D>6<E >59T>FV6, >>=EFDG>FV= F4 <5E4=V7<V6 G 6<7?O4V 

?D>5>FV==<E >D5E?5=L F4 FD<6<<VD=<E 75><5FD<G=<E <>45?5=. 

$�9. �44F=VEFL ?D54EF46?5==O D57G?LF4FV6 E6>TW V=65=5D=>W 

4VO?L=>EFV 7 4>FD<<4==O< 7474?L=>?D<==OF<E =>D< V EF4=44DFV6. 

$�10. �44F=VEFL >?<EG64F< F4 >?4E<DV>G64F< L<D>>5 >>?> 

F5E=VG=<E >59T>FV6 F4 ?D>F5EV6, M> �DG=FGTFLEO =4 7?<5>>><G 

7=4==V F4 D>7G<V==V >E=>6=<E <5E4=VG=<E F5>DV= F4 ?D4>F<>, 4 

F4>>6 547>6<E 7=4==OE EG<V6=<E =4G>. 

%?5FV4?L=V 
(D4E>6V, ?D54<5F=V) 
>><?5F5=F=>EFV 
?D>D5EV==>7> 
E?DO<G64==O ($�%) 

�D>D5EV==4 ?V=VO 1. $>5>F><5E4=VG=V E<EF5<< F4 >><??5>E<. 
$�%1.1. �44F=VEFL D>7D>5?OF< F5E=VG=5 74644==O =4 

?D>5>FG64==O 45F4?5=, E5D54=L>W E>?44=>EFV <5E4=V7<V6 F4 6G7?V6 

?D><<E?>6<E D>5>FV6 V D>5>F5E=VG=<E E<EF5< F4 >><??5>EV6. 

$�%1.2. �44F=VEFL >>=EFDGN64F< F<?>6V 45F4?V, <5E4=V7<<, 6G7?< 

4?O 46F><4F<7>64=>7> >5?44=4==O, D>5>F>F5E=VG=<E E<EF5< F4 

>><??5>EV6, 7 ?D>6545==O< 6V4?>6V4=<E D>7D4EG=>V6 F4 

<>45?N64==O. 

$�%1.3. %?D><>6=VEFL 6<>>D<EF>6G64F< VE=GNGV F4 744F=VEFL 

D>7D>5?OF< =>6V 74E>5< 46F><4F<74FVW 6<D>5=<G<E ?D>F5EV6 F4 WE 

E<EF5<< >5DG64==O. 

$�%1.4. �44F=VEFL ?D>5>FG64F< >5?44=4==O D>5>F>F5E=VG=<E 

E<EF5< F4 >><??5>EV6 7 6<>>D<EF4==O< 74E>5V6 

7V4D>?=56<>46F><4F<>< 

$�%1.5. �44F=VEFL 5D4F< GG4EFL G D>7D>5?5==V >?F<<4?L=<E 

F5E=>?>7VG=<E ?D>F5EV6 6<7>F>6?5==O 6<D>5V6, E?DO<>64=<E =4 

74557?5G5==O 6<E>>>W O>>EFV ?D>4G>FVW <4L<=>5G4G64==O. 

$�%1.6. %?D><>6=VEFL 6<>>=G64F< >E=>6=V DG=>FVW, ?>69O74=V 7 

F5E=>?>7VG=>N ?V47>F>6>>N 6<D>5=<FF64 <5E4=V7<V6 F4 6G7?V6 

D>5>F>F5E=VG=>7> >5?44=4==O. 

$�%1.7. �44F=VEFL 6EF4=>6?N64F< F4 74?GE>4F< 6 5>E??G4F4FVN, 

74V=E=N64F< >>=FD>?L DG=>FV>=G64==O, F5E=VG=5 = >D74=V74FV==5 

74557?5G5==O D>5VF 7 4V47=>EFG64==O F4 E5D6VE=>7> >5E?G7>6G64==O 

>5?44=4==O D>5>F>F5E=VG=<E E<EF5< =4 6<D>5=<FF6V. 

$�%1.8. �44F=VEFL ?D>6>4<F< 5>E?5D<<5=F4?L=V 4>E?V465==O 6 

?45>D4F>D=<E F4 6<D>5=<G<E G<>64E. 

$�%1.9. �44F=VEFL 6<>>=G64F< F5E=VG=5 F4 <5F>4<G=>-

4V47=>EF<G=5 74557?5G5==O =46G4?L=>7> ?D>F5EG F4 6<>?444==O 

E?5FV4?L=<E 4<EF<??V= (EF>E>6=> 6<D>5=<FF64, <>=F46G = 

5>E??G4F4FVW D>5>F>F5E=VG=>7> >5?44=4==O) 6 GEF4=>64E 

?D>D5EV==>-F5E=VG=>7> =46G4==O F4 557?>E5D54=L> G 6<D>5=<FF6V. 
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�D>D5EV==4 ?V=VO 2. �=65=5DVO ?>7VEF<G=<E E<EF5<. 
$�%2.1. �44F=VEFL D>D<G64F< F5E=VG=5 74644==O =4 

?D>5>FG64==O 45F4?5=, E5D54=L>W E>?44=>EFV <5E4=V7<V6 F4 6G7?V6 

>5?44=4==O 6 ED5DV ?>7VEF<G=<E E<EF5< F4 >><??5>EV6. 

$�%2.2. �44F=VEFL >>=EFDGN64F< =5E>?44=V (F<?>6V) 45F4?V, 

<5E4=V7<<, 6G7?< 4?O >5?44=4==O F4 <4L<=>5G4V6=<E >>=EFDG>FV= 

6 E>?44V ?>7VEF<G=<E E<EF5< F4 >><??5>EV6. 

$�%2.3. �44F=VEFL ?D>6>4<F< >><??5>E=V D>7D4EG=>< ?5D56VD>< 

<VF=>EFV, 74557?5G5==O 4>67>6VG=>EFV F4 >?F<<V74FVW >>=EFDG>FV= 

V=65=5D=>-?>7VEF<G=<E E<EF5< V >><??5>EV6 V7 6<>>D<EF4==O< 

?D<>?44=<E ?D>7D4< E>V=G5==>-5?5<5=F=>7> 4=4?V7G (%��).  

$�%2.4. �44F=VEFL ?D>6>4<F< E<EF5<=<= 4=4?V7 F4 E<=F57 

?D>5>F=<E DVL5=L 74 G<>64<< >D74=V74FVW FD4=E?>DF=>-E>?44EL><E 

>><??5>EV6.  

$�%2.5. �44F=VEFL ?D>5>FG64F< ?>7VEF<G=V E<EF5<< F4 >><??5>E< 

=4 >E=>6V >5�DG=F>64=>7> 6<5>DG >E=>6=>7> F4 4>?><V6=>7> 

F5E=>?>7VG=>7> >5?44=4==O, 6 F><G G<E?V 7 6<>>D<EF4==O< 

?D><<E?>6<E D>5>FV6, 64=F46>?V4V=<4?L=>7> F4 FD4=E?>DFGNG>7> 

>5?44=4==O.  

$�%2.6. �44F=VEFL >D74=V7G64F< F4 >?F<<V7G64F< FD4=E?>DF=>-

E>?44EL>V >?5D4FVW 4?O ?>>D4M5==O G<>6 ?D4FV F4 ?V46<M5==O 

?D>4G>F<6=>EFV D>5>F< 46F><4F<7>64=<E V 46F><4F<G=<E 

F5E=>?>7VG=<E ?V=V=.  

$�%2.7. �44F=VEFL D>7D>5?OF< EGG4E=V V=65=5D=V DVL5==O 

?>7VEF<G=<E E<EF5< F4 >><??5>EV6 4?O 755DV74==O ?D>4G>FVW 6 

ED5DV <4E>6>7> F4 ?>5GF>6>7> >5E?G7>6G64==O =4E5?5==O.  

$�%2.8. �44F=VEFL 6EF4=>6?N64F< F4 74?GE>4F< 6 5>E??G4F4FVN 

F5E=>?>7VG=5 >5?44=4==O 6 E>?44V ?>7VEF<G=<E E<EF5<, 

74V=E=N64F< >>=FD>?L =>7> DG=>FV>=G64==O, F5E=VG=5 F4 

>D74=V74FV==5 74557?5G5==O D>5VF 7 4V47=>EFG64==O F4 E5D6VE=>7> 

>5E?G7>6G64==O.  

$�%2.9. �44F=VEFL ?D>7D4<G64F< F4 =4?47>46G64F< F5E=>?>7VG=5 

>5?44=4==O 6 E>?44V ?>7VEF<G=<E E<EF5< F4 >><??5>EV6, M> 

6<>>D<EF>6GNFL =>6VF=V 74E>5< >5DG64==O.  

�D>D5EV==4 ?V=VO 3. &5E=>?>7VW <4L<=>5G4G64==O. 
$�%3.1. �44F=VEFL ?D>5>FG64F< >59T>F< 6<D>5=<FF64, 

>5?44=4==O, >E=4M5==O, 74E>5< 46F><4F<74FVW 6<D>5=<G<E 

?D>F5EV6 V7 74EF>EG64==O< 7V4D>- V ?=56<>?D<6>4V6 V E<EF5< 

>5DG64==O. 

$�%3.2. �44F=VEFL 6<>>=G64F< 74E>4< 7 5D5>F<6=>W 5>E??G4F4FVW 

= >5E?G7>6G64==O F5E=>?>7VG=>7> GEF4F>G64==O = >E=4M5==O, 

74E>5V6 46F><4F<74FVW 6<D>5=<FF64 F4 E<EF5< >5DG64==O. 

$�%3.3. %?D><>6=VEFL 5D4F< GG4EFL G ?D>F5E4E ?D>5>FG64==O = 

>D74=V74FVW ?V4D>74V?V6 <4L<=>5G4V6=>7> ?V4?D<T<EF64, 

74V=E=N64F< 6<5VD V >><?>=G64==O F5E=>?>7VG=>7> GEF4F>G64==O = 

>E=4M5==O, 74E>5V6 746>4EL>>7> FD4=E?>DFG, 64=F46>?V4V=<4?L=<E 

74E>5V6, 74E>5V6 >>=FD>?N V >5DG64==O F5E=>?>7VG=<E ?D>F5EV6. 

$�%3.4. %?D><>6=VEFL 74EF>E>6G64F< EGG4E=V =4G>>6V 

4>EO7=5==O F5>DVW DV74==O <4F5DV4?V6 4?O ?D<7=4G5==O 

>?F<<4?L=<E ?4D4<5FDV6 DG=>FV>=G64==O ?D>F5EV6 >5D>5?5==O 

45F4?5=, 6<5>DG <5F4?>>5D>5=<E V=EFDG<5=FV6, E?>DO465=<E 

EGG4E=<<< V=EFDG<5=F4?L=<<< <4F5DV4?4<<. 
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$�%3.5. �44F=VEFL ?D<=<4F< GG4EFL G ?D>5>FG64==V V 45F4?L=><G 

D>7D>5?5==V >?F<<4?L=<E F5E=>?>7VG=<E ?D>F5EV6 6<7>F>6?5==O 

6<D>5V6, E?DO<>64=<E =4 74557?5G5==O O>>EFV ?D>4G>FVW. 

$�%3.6. %?D><>6=VEFL 74V=E=N64F< ?D>5>FG64==O 6EVE 6<4V6 

<5F4?>>5D>5=<E V=EFDG<5=FV6 F4 V=L<E 74E>5V6 F5E=>?>7VG=>7> 

>E=4M5==O, F5E=>?>7VG=<E ?D>F5EV6 >5D>5?5==O 7 6<>>D<EF4==O< 

EGG4E=<E ?D>7D4<=<E ?D>4G>FV6 7 46F><4F<7>64=>7> ?D>5>FG64==O 

F4 >><?9NF5D=>7> V=6<=VD<=7G. 

$�%3.7. %?D><>6=VEFL 74V=E=N64F< ?D>5>FG64==O 

F5E=>?>7VG=<E ?D>F5EV6 6<7>F>6?5==O 6<D>5V6 =4 >E=>6V EGG4E=<E 

?D>7D5E<6=<E <5F>4V6 5?5>FD>DV7<G=>7>, 5?5>FD>EV<VG=>7>, 

?D><5=56>7> D>D<>GF6>D5==O 45F4?5=. 

$�%3.8. �44F=VEFL ?D>7D4<G64F< E<EF5<< G<E?>6>7> ?D>7D4<=>7> 

>5DG64==O 46F><4F<7>64=>7> F5E=>?>7VG=>7> >5?44=4==O. 

$�%3.9. %?D><>6=VEFL 6<>>=G64F< >><?D><VE=<= 6<5VD 64DV4=FG 

F5E=>?>7VG=>7> ?D>F5EG 6<7>F>6?5==O 6<D>5G 7 GD4EG64==O< 

>FV=>G=<E 6<<>7 M>4> E>5V64DF>EFV, O>>EFV, 557?5>< ?D4FV. 

$�%3.10. %?D><>6=VEFL 74V=E=N64F< 6<5VD <5F>4V6 

6<7>F>6?5==O 747>F>6>> 45F4?5=, 6V4?>6V4=>7> F5E=>?>7VG=>7> 

>5?44=4==O F4 6<>>=G64F< ?D>5>FG64==O F<E 747>F>6>>. 

�D>D5EV==4 ?V=VO 4. �4L<=< V F5E=>?>7VW ?4>>64==O. 
$�%4.1. �44F=VEFL D>7D>5?OF< F5E=VG=5 74644==O =4 

?D>5>FG64==O 45F4?5=, E5D54=L>W E>?44=>EFV <5E4=V7<V6 F4 6G7?V6 

?4>G64?L=>7> >5?44=4==O, 46F><4FV6 F4 46F><4F<7>64=<E ?V=V= 

?4>G64==O, 4>?><V6=>7> >5?44=4==O ?4>G64?L=>W F5E=V><.  

$�%4.2. �44F=VEFL >>=EFDGN64F< F4 D>7D>5?OF< 45F4?V, 

<5E4=V7<<, 6G7?< ?4>G64?L=>7> F4 4>?><V6=>7> >5?44=4==O, 

=5E>?44=<E (F<?>6<E) 46F><4FV6 F4 5?5<5=FV6 46F><4F<7>64=<E 

?V=V= ?4>G64==O V7 ?D>6545==O< 6V4?>6V4=<E D>7D4EG=>V6 F4 

<>45?N64==O =4 ����.  

$�%4.3. %?D><>6=VEFL 6<>>D<EF>6G64F< VE=GNGV F4 744F=VEFL 

D>7D>5?OF< =>6V 74E>5< 46F><4F<74FVW 6<D>5=<G<E ?D>F5EV6 

?4>G64==O F4 WE E<EF5< >5DG64==O. 

$�%4.4. �44F=VEFL ?D>5>FG64F< =5E>?44=5 =5EF4=44DF=5 

?4>G64?L=5 V 4>?><V6=5 >5?44=4==O 4?O 46F><4F<7>64=<E ?V=V= 

?4>G64==O 6<D>5V6 V7 6<>>D<EF4==O< 5?5>FD><5E4=VG=<E ?D<6>4V6, 

74E>5V6 7V4D>?=56<>46F><4F<><, 4 F4>>6 7V4D>- F4 

?=56<>?D<6>4V6. 

$�%4.5. %?D><>6=VEFL 6<>>=G64F< F5E=VG=5 F4 >D74=V74FV==5 

74557?5G5==O (F5E=>?>7VG=4 ?V47>F>6>4 6<D>5=<FF64) 

6<7>F>6?5==O <5E4=V7<V6 F4 6G7?V6 >E=>6=>7> F4 4>?><V6=>7> 

>5?44=4==O ?4>G64?L=>W F5E=V><. 

$�%4.6. �44F=VEFL D>7D>5?OF< F<?>6V F5E=>?>7VG=V ?D>F5E< 

?4>G64==O DV7=><4=VF=>W ?D>4G>FVW DV7=>7> DV6=O 46F><4F<74FVW. 

$�%4.7. %?D><>6=VEFL 74V=E=N64F< 6<5VD ?4>G64?L=<E 

<4F5DV4?V6, F4D< F4  4>?><V6=<E ?4>G64?L=<E 74E>5V6 =4 >E=>6V 

6?4EF<6>EF5= ?D>4G>FG ?4>G64==O. 

$�%4.8. �44F=VEFL 6EF4=>6?N64F< F4 74?GE>4F< 6 5>E??G4F4FVN, 

74V=E=N64F< >>=FD>?L DG=>FV>=G64==O, F5E=VG=5 F4 >D74=V74FV==5 

74557?5G5==O D>5VF 7 4V47=>EFG64==O F4 E5D6VE=>7> >5E?G7>6G64==O 

?4>G64?L=>W F5E=V><.  

$�%4.9. �44F=VEFL ?D>6>4<F< 5>E?5D<<5=F4?L=V 4>E?V465==O 6 
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?45>D4F>D=<E F4 6<D>5=<G<E G<>64E. 

$�%4.10. �44F=VEFL ?D>7D4<G64F< E<EF5<< G<E?>6>7> 

?D>7D4<=>7> >5DG64==O 46F><4F<7>64=>7> F5E=>?>7VG=>7> 

>5?44=4==O 7 '��. 

�D>D5EV==4 ?V=VO 5. &5E=>?>7VW F4 GEF4F>G64==O 764DN64==O. 
$�%5.1. �44F=VEFL 6<>>D<EF>6G64F< 7=4==O 7 DG=44<5=F4?L=<E 

F4 ?D>D5EV==>->DVT=F>64=<E 4<EF<??V= 4?O 4=4?V7G 6<D>5=<G>-

F5E=>?>7VG=<E F4 ?D>5>F=>->>=EFDG>F>DEL><E 74644=L G 74?G7V 

764DN64?L=>7> 6<D>5=<FF64, 7>>D5<4 ?D< ?D>5>FG64==V 

>?F<<4?L=<E F5E=>?>7VG=<E ?D>F5EV6 6<7>F>6?5==O F4 D5<>=FG 

764D=<E 6<D>5V6 7 DV7=<E >>=EFDG>FV==<E <4F5DV4?V6, 4 F4>>6 

D>7D4EG=>G F4 ?D>5>FG64==V 5?5<5=FV6 <4L<==>7> F4 

F5E=>?>7VG=>7> >E=4M5==O. 

$�%5.2. �44F=VEFL 74V=E=N64F< ?D>5>FG64==O F5E=>?>7VG=>7> 

?D>F5EG 6<7>F>6?5==O 764D=<E >>=EFDG>FV=, 6<VF< 4=4?V7G64F< 

?4D> 764DN64?L=>7> >5?44=4==O F4 >5�DG=F>64=> >5<D4F< 465D5?4 

6<6?5==O F4 F5E=>?>7VG=5 >E=4M5==O 4?O 74557?5G5==O 

6V4?>6V4=<E F5E=>?>7VW 764DN64==O, 6<VF< ?D>5>FG64F< F4 

D>7D4E>6G64F< 5?5<5=F< =5EF4=44DF=>7> 4>?><V6=>7> >E=4M5==O, 

6<5<D4F< >E=>6=5 F4 4>?><V6=5 >E=4M5==O 4?O E>?444==O F4 

764DN64==O 764D=<E >>=EFDG>FV=, D>7D4E>6G64F< =>7> 5?5<5=F<, 

?D<7=4G4F< <5F>4< >>=FD>?N O>>EFV, 4V47=>EFG64F< EF4= 

>E=>6=>7> F4 4>?><V6=>7> >5?44=4==O, 74?>6=N64F< <4DLDGF=V 

>4DF< F5E=>?>7VG=>7> ?D>F5EG 764DN64==O. 

$�%5.3. �44F=VEFL 4> 6<>>D<EF4==O >><?9NF5D=<E F5E=>?>7V= 

EGG4E=>7> 764DN64?L=>7> 6<D>5=<FF64 4?O <>45?N64==O V 

D>7D4EG=>G =47DV64==O FV? ?D< DV7=<E E?>E>54E 764DN64==O, 

EFDG>FGD=<E ?5D5F6>D5=L G <4F5DV4?4E >>=EFDG>FVW ?V4 4VTN 

F5D<VG=>7> F<>?G 764DN64==O, =4?DG65=>345D>D<V6=>7> EF4=G, 

>FV=>< 744F=>EFV <4F5DV4?G >>=EFDG>FVW 4> D>D<G64==O O>VE=>7> 

764D=>7> 79T4=4==O F4 D<7<>G GF6>D5==O FDVM<= F4 V=L<E 

F5E=>?>7VG=<E 45D5>FV6, >D<F<G=<E M>4> 5>E??G4F4FV==>W 

?D<44F=>EFV 764D=>W >>=EFDG>FVW. 

$�%5.4. �44F=VEFL 6<>>D<EF>6G64F< 7=4==O EGF=>EFV 

DV7=><4=VF=<E E?>E>5V6 764DN64==O, WE F5E=V>>-5>>=><VG=<E 

E4D4>F5D<EF<>, ED5D 6<>>D<EF4==O V ?5DE?5>F<6 D>76<F>G, 

>E>5?<6>EF5= F5E=>?>7V= 764DN64==O DV7=<E <5F4?V6 F4 WE E??46V6, 

6<V==O 6<5D4F< =5>5EV4=V 764DN64?L=V <4F5DV4?<, >5<D4F< E?>E>5< 

V D56<<< ??46?5==O F4 F5D<VG=>7> >5D>5?5==O, 6<5D4F< 

>?F<<4?L=V ?4D4<5FD< 764DN64==O. 

$�%5.5. �44F=VEFL 4=4?V7G64F< >E=>6=V =4G>>6>-?D<>?44=V 

?D>5?5<< 764DN64==O F4 E?>DV4=5=<E F5E=>?>7V=, G<VF< 

74EF>E>6G64F< =45GFV 7=4==O 4?O D>769O74==O =4G>>6>-?D<>?44=<E 

7444G G 74?G7V 764DN64==O F4 E?>DV4=5=<E F5E=>?>7V=, 7=4F< 

?D46<?4 V 6<VF< >D>D<?OF< 4>>G<5=F4FVN 7 4F5EF4FVW 747>- = 

5?5>FD>764D=<>V6 F4 >D74=V74FV=; 7=4F< E<EF5<G 45D646=<E 

6<?D>5>6G64=L ?D>4G>FVW. 

$�%5.6. �44F=VEFL 74 4>?><>7>N =4O6=<E <5F>4V6 F4 

>><?9NF5D=<E E<EF5< D>7D4EG64F< ?4D4<5FD< D56<<G 

764DN64==O, WE 6??<6G =4 F5D<>-45D>D<4FV==V ?D>F5E< 

D>D<G64==O 764D=<E 79T4=4=L G DV4>><G 45> F65D4><G EF4=4E,  

<>45?N64F< F4 ?D>7=>7G64F< 7<V=G EFDG>FGD=>-D47>6>7> E>?44G 
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<5F4?G V =4?DG65=>7> EF4=G >>=EFDG>FVW 6=4E?V4>> 6??<6G F4><E 

?D>F5EV6. 

�D>D5EV==4 ?V=VO 6. �V4=>6?5==O F4 ?V46<M5==O 
7=>E>EFV=>>EFV 45F4?5= V >>=EFDG>FV=. 
$�%6.1. �44F=VEFL 74V=E=N64F< ?D>5>FG64==O F5E=>?>7VG=>7> 

?D>F5EG 764DN64==O V =4??46?5==O >>=EFDG>FV= V7 EF4?5= F4 

>>?L>D>6<E <5F4?V6, 6>?>4VF< >E=>64<< D>7D4EG=>G 

E?5FV4?V7>64=>7> F5E=>?>7VG=>7> >E=4M5==O. 

$�%6.2. �44F=VEFL 4=4?V7G64F< ?D>F5E< EF6>D5==O ?>65DE>=L 7 

>E>5?<6<<< 6?4EF<6>EFO<< <5F>44<< =4?<?5==O V =4??46?5==O 7 

F>G>< 7>DG 74D4=FG64==O 6<E>>>W F5E=>?>7VG=>W <VF=>EFV 79T4=4==O 

<5F4?G V ?>>D<FFO, >E>5?<6>EFV ?5D55V7G <5F4?GD7V==<E ?D>F5EV6 

?D>FO7>< =47DV64==O = >E>?>465==O <5F4?G F4 4=4?V7G64F< 6??<6 

DV7=<E 6<4V6 F4 F5E=>?>7V= =4=5E5==O ?>>D<FL =4 ?5D55V7 F<E 

?D>F5EV6, G DV4>><G F4 F65D4><G EF4=4E 4?O EF4?56<E, >>?L>D>6<E 

F4 >><?>7<FV==<E  <4F5DV4?V6. 

$�%6.3. �44F=VEFL 5D5>F<6=> >FV=N64F< 6??<6 F<?G 465D5?4 

6<6?5==O =4 O>VEFL V D47>6<= E>?44 <5F4?G ?D< 764DN64==V V 

=4??46?5==V, >5<D4F< 465D5?4 6<6?5==O 7 >?F<<4?L=<<< 

E4D4>F5D<EF<>4<< 4?O 74557?5G5==O O>VE=<E ?>>47=<>V6 

6V4=>6?N64?L=<E F5E=>?>7V= F4 EF6>D5==O ?>65DE>=L 7 

>E>5?<6<<< 6?4EF<6>EFO<< F4 G<VF< >5<D4F< <5F>4<>< V E?>E>5< 

=5DG==V6=>7> >>=FD>?N O>>EFV 6<>>=4=>7> 79T4=4==O G< 

=4??46?5=>7> L4DG. 

$�%6.4. �44F=VEFL 6<>>=G64F< 4=4?V7 F5E=>?>7VG=>7> ?D>F5EG 

=4??46?5==O G< =4?<?5==O 7 F>G>< 7>DG D>76<F>G 45D>D<4FV= V 

=4?DG65=L G >>=EFDG>FVOE, 6<>>D<EF>6G64F< D>7D4EG=>>6V F4 

5>E?5D<<5=F4?L=V <5F>4< 6<7=4G5==O 764DN64?L=<E =4?DG65=L V 

45D>D<4FV=, 4 F4>>6 E?>E>5< 7=<65==O WE DV6=O, 4=4?V7G64F< 

6??<6 D56<<V6 V F5E=>?>7V= 764DN64==O G F65D4><G G< DV4>><G 

EF4=V =4 <VF=VEFL V EFV=>VEFL 764D=<E >>=EFDG>FV=. 

$�%6.5. �44F=VEFL 74V=E=N64F< =4G>>6V 4>E?V465==O 7 DV7<>>-

EV<VG=<E ?D>F5EV6, M> 6V45G64NFLEO =4 ?>65DE=V <5F4?V6 ?D< 

=4??46?5==V, >5�DG=F>64=> 6<>>D<EF>6G64F< EGG4E=V  F5E=>?>7VW 

>><?9NF5D=>7> <>45?N64==O 764DN64?L=<E ?D>F5EV6 4?O 

?D>7=>7G64==O E4D4>F5D<EF<> 6<D>5G V7 74EF>EG64==O< F5E=>?>7V= 

6V4=>6?5==O F4 EF6>D5==O ?>65DE>=L 7 >E>5?<6<<< 6?4EF<6>EFO<<. 

7. �D>7D4<=V D57G?LF4F< =46G4==O 

�474?L=V. 
$�1. �<5<D4F< F4 74EF>E>6G64F< 4?O D>769O74==O 7444G ?D<>?44=>W <5E4=V>< ?D<44F=V 

<4F5<4F<G=V <5F>4<. 

$�2. �<>>D<EF>6G64F< 7=4==O F5>D5F<G=<E >E=>6 <5E4=V>< F65D4>7> FV?4, DV4<= V 747V6, 

F5??>F5E=V><, 5?5>FD>=V>< = 5?5>FD>F5E=V>< 4?O 6<DVL5==O ?D>D5EV==<E 74644=L. 

$�3. �<>>=G64F< D>7D4EG=>< =4 <VF=VEFL, 6<FD<64?VEFL, EFV=>VEFL, 4>67>6VG=VEFL, 6>DEF>VEFL 

45F4?5= <4L<=. 

$�4. �FV=N64F< =44V==VEFL 45F4?5= V >>=EFDG>FV= <4L<= 6 ?D>F5EV EF4F<G=>7> F4 4<=4<VG=>7> 

=464=F465==O. 

$�5. �<>>=G64F< 75><5FD<G=5 <>45?N64==O 45F4?5=, <5E4=V7<V6 V >>=EFDG>FV= G 6<7?O4V  

?D>EF>D>6<E <>45?5= V ?D>5>FV==<E 7>5D465=L; >D>D<?N64F< D57G?LF4F< G 6<4V F5E=VG=<E V 

D>5>G<E >D5E?5=L. 

$�6. %F6>DN64F< V F5>D5F<G=> >5�DG=F>6G64F< >>=EFDG>FVW <4L<=, <5E4=V7<V6 F4 WE 5?5<5=FV6 
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=4 >E=>6V <5F>4V6 ?D<>?44=>W <5E4=V><, 7474?L=<E ?D<=F<?V6 >>=EFDGN64==O, F5>DVW 

674T<>74<V==>EFV, EF4=44DF=<E <5F>4<> D>7D4EG=>G 45F4?5= <4L<=. 

$�7. �4EF>E>6G64F< =>D<4F<6=V F4 4>6V4>>6V 44=V 4?O >>=FD>?N 6V4?>6V4=>EFV F5E=VG=>W 

4>>G<5=F4FVW, 6<D>5V6 V F5E=>?>7V= EF4=44DF4<, F5E=VG=<< G<>64< F4 V=L<< =>D<4F<6=<< 

4>>G<5=F4<. 

$�8. �=4F< V D>7G<VF< >E=>6< V=D>D<4FV==<E F5E=>?>7V=, ?D>7D4<G64==O, ?D4>F<G=>   

6<>>D<EF>6G64F< E?5FV4?V7>64=5 ?D<>?44=5 ?D>7D4<=5 74557?5G5==O 4?O 6<>>=4==O V=65=5D=<E 

D>7D4EG=>V6, >5D>5?5==O V=D>D<4FVW F4 D57G?LF4FV6 5>E?5D<<5=F4?L=<E 4>E?V465=L. 

$�9. �=4F< F4 D>7G<VF< EG<V6=V 74?G7V V 6<VF< 6<O6?OF< <V64<EF<??V=4D=V 769O7>< ?D<>?44=>W 

<5E4=V>< =4 DV6=V, =5>5EV4=><G 4?O 6<>>=4==O V=L<E 6<<>7 >E6VF=L>W ?D>7D4<<. 

$�10. �=4F< >>=EFDG>FVW, <5F>4<>< 6<5>DG V D>7D4EG=>G, >E=>6< >5E?G7>6G64==O = 

5>E??G4F4FVW ?D<6>4V6 65DEF4F=>7>, 764DN64?L=>7> V D>5>F>F5E=VG=>7> GEF4>G64==O. 

$�11. $>7G<VF< ?D<=F<?< D>5>F< E<EF5< 46F><4F<7>64=>7> >5DG64==O F5E=>?>7VG=<< 

GEF4F>G64==O<, 7>>D5<4 <V>D>?D>F5E>D=<E, 6<5<D4F< F4 6<>>D<EF>6G64F< >?F<<4?L=V 74E>5< 

46F><4F<><. 

$�12. �4F< ?D>D5EV==V =46<G>< ?D4>F<G=>7> 6<>>D<EF4==O >><?9NF5D<7>64=<E E<EF5< 

?D>5>FG64==O (CAD), ?V47>F>6>< 6<D>5=<FF64 (%��) F4 V=65=5D=<E D>7D4EG=>V6 (CAE). 

$�13. �FV=N64F< F5E=V>>-5>>=><VG=G 5D5>F<6=VEFL 6<D>5=<FF64. 

$�14. �4V=E=N64F< >?F<<4?L=<= 6<5VD >E=>6=>7> F5E=>?>7VG=>7> GEF4F>G64==O F4 

>><??5>F4FVN F5E=VG=<E >><??5>EV6. 

$�15. �D4E>6G64F< ?D< ?D<==OFFV DVL5=L >E=>6=V D4>F>D< F5E=>75==>7> 6??<6G =4 

=46>>?<L=T E5D54>6<M5 V >E=>6=V <5F>4< 74E<EFG 4>6>V??O, >E>D>=< ?D4FV F4 557?5>< 

6<FFT4VO?L=>EFV. 

$�16. �V?L=> E?V?>G64F<EO 7 ?D>D5EV==<E ?<F4=L GE=> V ?<EL<>6> 45D646=>N F4 V=>75<=>N 

<>6>N, 6>?NG4NG< 7=4==O E?5FV4?L=>W F5D<V=>?>7VW F4 =46<G>< <V6>E>5<EFVE=>7> E?V?>G64==O. 

$�17. �=4F< >E=>6< 74?>5V74==O >>DG?FVW, EGE?V?L=>W F4 4>445<VG=>W 4>5D>G5E=>EFV =4 DV6=V, 

=5>5EV4=><G 4?O D>D<G64==O =5F5D?<<>EFV 4> >>DG?FVW F4 ?D>O6V6 =54>5D>G5E=>W ?>654V=>< 

E5D54 74>5G64GV6 >E6VF< F4 6<VF< 74EF>E>6G64F< ïx 6 ?D>D5EV==V= 4VO?L=>EFV. 

�D>D5EV==4 ?V=VO 1. $>5>F><5E4=VG=V E<EF5<< F4 >><??5>E<. 
�$�1.1. �=4F< <5F>4<>< E<=F57G DV6=O=L, O>V >?<EGNFL >V=5<4F<>G V 4<=4<V>G 

D>5>F>F5E=VG=<E F4 ?V4=><=>-FD4=E?>DF=<E E<EF5<. 

�$�1.2. �>45?N64F< D>5>FG D>5>F>F5E=VG=<E E<EF5<, 74EF>E>6GNG< >E=>6=V <5F>4< 

<4F5<4F<><, F5>D5F<G=>W <5E4=V>< F4 <4F5<4F<G=>W DV7<><. 

�$�1.3. �=4F< V D>7G<VF< EFDG>FGDG E<EF5< >5DG64==O 46F><4F<7>64=>7> 6<D>5=<FF64 F4 

D>5>FV6, 5?5<5=F< F5>DVW E<7=4?V6, <5F>4< 6<<VDN64==O F4 74EF>EG64==O 4?4D4FGD< 4?O 

6<<VDN64==O E<7=4?V6, ?D<=F<?< DG=>FV>=G64==O F4 >>=EFDG>FVW 4464GV6 6=GFDVL=L>W F4 

7>6=VL=L>W V=D>D<4FVW. 

�$�1.4. �=4F< >E=>6< ?D>5>FG64==O D>5>F>F5E=VG=<E >><??5>EV6 DV7=>7> F5E=>?>7VG=>7> 

?D<7=4G5==O, 5G4>6G, ?D<=F<?< DG=>FV>=G64==O V F5E=>?>7VG=V <>6?<6>EFV 46F><4F<7>64=>7> 

>5?44=4==O, 7=4F< >E=>6< F4 >E>5?<6>EFV D>7D4EG=>G ?D><<E?>6<E D>5>FV6 4?O DV7=<E 

6<D>5=<G<E ?5D54V?V6. 

�$�1.5. �<VF< 6<5<D4F< 5>>=><VG=> 4>FV?L=5 >E=>6=5 F5E=>?>7VG=5 V ?5D<D5DV==5 

>5?44=4==O, ?D><<E?>6V D>5>F< ?D< EF6>D5==V D>5>F>F5E=VG=<E >><??5>EV6 DV7=>7> 

F5E=>?>7VG=>7> ?D<7=4G5==O, 4=4?V7G64F< D>5>F>F5E=VG=V >><??5>E< V E<EF5<< 7 F>G>< 7>DG 

4>FV?L=>EFV >><?>=G64==O V =4=5V?LL>W ?D>4G>F<6=>EFV, E>?444F< = 4=4?V7G64F< F<>?>7D4<< 

D>5>F< D>5>F>F5E=VG=<E >><??5>EV6. 

�$�1.6. �=4F< >E=>6=V <5F>4< D>7D4EG=>V6 6G7?V6 V 45F4?5= ?D><<E?>6<E D>5>FV6. 

�$�1.7. �=4F< 5G4>6G, ?D<=F<? D>5>F< V F5E=>?>7VG=V <>6?<6>EFV ?D><<E?>6<E D>5>FV6. 

�$�1.8. �<VF< 6<>>=G64F< EFDG>FGD=<=, >V=5<4F<G=<= F4 4<=4<VG=<= 4=4?V7 ?D><<E?>6<E 

D>5>FV6. 

�$�1.9. �=4F< EGG4E=5 ?D>7D4<=5 74557?5G5==O 6 74?G7V %��$, <5F>4< F4 E<EF5<< 

46F><4F<7>64=<E D>7D4EG=>V6 6G7?V6 V 45F4?5= F4 <>45?N64==O D>5>F< F5E=>?>7VG=<E <4L<=. 
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�$�1.10. �<VF< 4=4?V7G64F< 46F><4F<7>64=5 >5?44=4==O 7 F>G>< 7>DG 46F><4F<74FVW <4L<=, 

D4FV>=4?L=> 6<>>D<EF>6G64F< 6 F5E=>?>7VG=<E ?D>F5E4E 6<D>5=<FF64 74E>5< 46F><4F<74FVW, 

4=4?V7G64F< ?D>4G>F<6=VEFL ?D>F5EV6 F4 5D5>F<6=VEFL 6<>>D<EF4==O 46F><4F<7>64=<E <4L<=, 
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6<D>5V6, >E>5?<6VEFL WE ?>654V=>< ?D< =4 4VW F5D<>45D>D<4FV==>7> F<>?G GF6>D5==O 

=5D>79T<=>7> 79T4=4==O, 74E>4< V7 74557?5G5==O 7444=>W EFDG>FGD< 7>=< 764DN64==O F4 

74?<L>>6>7> =4?DG65=>7> EF4=G. 

�$�6.2. �=4F< V ?D>7=>7G64F< <5F4?GD7V==<=, EFDG>FGD=<=, <5E4=VG=<= EF4= <4F5DV4?G 

6V4=>6?5=<E 45> =>6>EF6>D5=<E ?>65DE>=L ?D< 6<>>D<EF4==V ?56=>7> E?>E>5G 6<7>F>6?5==O 

>><?>7<FV==>W >>=EFDG>FVW. 

�$�6.3. �<VF< 4?O >>=>D5F=>7> 6<D>5G >5�DG=FG64F< >?F<<4?L=<= 6<5VD >><?>7<FVW >E=>6=<= 

<4F5DV4? F4 <4F5DV4? ?>65DE=V 4?O 74557?5G5==O 5>E??G4F4FV==<E 6<<>7 4> >>=EFDG>FVW. 

�$�6.4. �<VF< >5<D4F< ?D<==OF=<= 64DV4=F 6<7>F>6?5==O >><?>7<FV==>7> =5D>79T<=>7> 

79T4=4==O 4?O 6<7>F>6?5==O >>=EFDG>FVW, 6V4?>6V4=> 4> WW =>D<4F<6=<E 6<<>7. 

�$�6.5. �4V=E=N64F< D>7D>5?5==O ?>6=>7> F<>?G ?D>F5EG EF6>D5==O >><?>7<FV==>W 

>>=EFDG>FVW 7 5F4?4<< ?V47>FG64==O <4F5DV4?V6, >E=>6=>7> F4 4>?><V6=>7> GEF4F>G64==O, 
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?D>6>4<F< D>7D4EG=>< F5E=V>>-5>>=><VG=<E ?>>47=<>V6 5F4?V6 F<>?G 6<7>F>6?5==O. 

�$�6.6. �<VF< D>7D4E>6G64F< F4 >?F<<V7>6G64F< (V7 74?GG5==O< <>45?N64==O) D56<<< 4?O 

>5D4=>7> E?>E>5G F4 64DV4=FG 6<7>F>6?5==O >><?>7<FV==>7> 6<D>5G. 

�$�6.7. �4V=E=N64F< >5�DG=F>64=<= 6<5VD >E=>6=>7> GEF4F>G64==O 4?O 74557?5G5==O 

>>=>D5F=<E F5E=>?>7V= EF6>D5==O >><?>7<FV==<E 6<D>5V6, 7=4F< >E>5?<6>EFV >>=EFDG>F<6=>W 

5G4>6<, D>5>F< F4>>7> GEF4F>G64==O. 

�$�6.8. �D>6>4<F< 6<5VD F5E=>?>7VG=>7> >E=4M5==O 4?O 74557?5G5==O F5E=>?>7VG=>7> 

?D>F5EG, ?D>6>4<F< D>7D4EG=>< E<?>6<E =464=F465=L =4 F5E=>?>7VG=5 >E=4M5==O, 

D>7D4E>6G64F< F4 ?D>5>FG64F< =5EF4=44DF=5 F5E=>?>7VG=5 >E=4M5==O ?V4 6<DV5. 

�$�6.9. �D>6>4<F< 6<5VD 4>?><V6=<E (6<FD4F=<E) <4F5DV4?V6, >?F<<V7>64=<E 4?O E?>E>5G 

6<7>F>6?5==O >><?>7<FV==>W >>=EFDG>FVW, >GV>G64=>W EFDG>FGD< F4 <5E4=VG=<E 6?4EF<6>EF5= 

=>6>EF6>D5=>W ?>65DE=V F4 6<D>5G 7474?><. 

�$�6.10. �<VF< 6<7=4G4F< >>=EFDG>F<6=G F4 5>E??G4F4FV==G 45D5>F>E>>?VG=G E?D><>6=VEFL 

EF6>D5=>7> >><?>7<FV==>7> 6<D>5G, >5<D4F< >?F<<4?L=V <5F>4< F4 64DV4=F< >>=FD>?N O>>EFV 

=4 6EVE 5F4?4E =>7> 6<7>F>6?5==O, >FV=N64F< D57G?LF4F< >>=FD>?N F4 ?D>6>4<F< =4 WE >E=>6V 

>>=EFDG>F<6=>-F5E=>?>7VG=V >?F<<V74FV==V 7<V=< 6<FFT6>7> F<>?G >>=EFDG>FVW. 

�$�6.11. �=4F< <5F>4>?>7VN F4 ?D<=F<?< ?D>6545==O 6<?D>5>6G64=L >><?>7<FV==<E 79T4=4=L 

>?F<<V74FV==>7> 5>E?5D<<5=FG64==O 4?O 744>6>?5==O O>VE=<E ?>>47=<>V6 764D=<E >>=EFDG>FV=, 

?D>6>4<F< ??4=>64=V 5>E?5D<<5=F<, >5D>5?OF< WE D57G?LF4F<, D>7D4E>6G64F< DV7<>>-

=<>6VD=VE=V <>45?V, G77>46G64F< WE 7 ?D>7D4<=<< 74557?5G5==O< >E=>6=>7> GEF4F>G64==O. 

�><G=V>4FVO (���) 1. '<V==O E?V?>G64F<EO, 6>?NG=> 7 GE=>N F4 ?<EL<>6>N 

>><G=V>4FVTN, G>D4W=EL>>N <>6>N F4 >4=VTN 7 V=>75<=<E <>6 

(4=7?V=EL>>N, =V<5FL>>N, DD4=FG7L>>N). 

2. �44F=VEFL 6<>>D<EF>6G64F< 7=4==O 7 ?D<>?44=>W <5E4=V><, 

7>>D5<4, D>5>F>F5E=V><, F5E=>?>7V= <4L<=>5G4G64==O, ?>7VEF<>< 

<4L<=>5G4V6=<E 6<D>5=<FF6, F5E=>?>7V= ?4>>64==O, 764DN64==O, 

6V4=>6?5==O 45F4?5=, 74557?5G5==O 4>67>6VG=>EFV 45F4?5=, 

4V47=>EF<>< <5F4?>>>=EFDG>FV= 4?O E?V?>G64==O =4 ?D>D5EV==><G 

F4 E>FV4?L=><G DV6=OE. 

3. �46<G>< 65D54?L=>W F4 ?<EL<>6>W ?D575=F4FVW ?D4>F<G=<E 

D>7D>5>> 7 ?D<>?44=>W <5E4=V><. 

�6F>=><VO V 
6V4?>6V44?L=VEFL (�V�) 

1. �44F=VEFL 444?FG64F<EL 4> =>6<E E<FG4FV= F4 ?D<=<4F< 

6V4?>6V4=V DVL5==O. 

2. �44F=VEFL GE6V4><?N64F< =5>5EV4=VEFL =46G4==O 6?D>4>66 

GEL>7> 6<FFO 7 <5F>N ?>7?<5?5==O =45GF<E F4 74>5GFFO =>6<E 

D4E>6<E 7=4=L. 

3. �44F=VEFL 6V4?>6V44?L=> EF46<F<EL 4> 6<>>=G64=>W D>5>F<, 

E4<>EFV==> ?D<=<4F< DVL5==O, 4>EO74F< ?>EF46?5=>W <5F< 7 

4>FD<<4==O< 6<<>7 ?D>D5EV==>W 5F<><. 

4. �44F=VEFL 45<>=EFDG64F< D>7G<V==O >E=>6=<E 5>>?>7VG=<E 

74E44, >E>D>=< ?D4FV F4 557?5>< 6<FFT4VO?L=>EFV F4 WE 

74EF>EG64==O. 
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8. $5EGDE=5 74557?5G5==O D54?V74FVW ?D>7D4<< 

�E=>6=V E4D4>F5D<EF<>< 
>44D>6>7>  74557?5G5==O 

80 % =4G>>6>-?5447>7VG=<E ?D4FV6=<>V6, O>V 744VO=V 4> 

6<>?444==O ?D>D5EV==>->DVT=F>64=<E 4<EF<??V= 7V E?5FV4?L=>EFV 

131 «�D<>?44=4 <5E4=V>4», <4NFL =4G>>6V EFG?5=V F4 6G5=V 764==O, 

7 4>E6V4>< ?D4>F<G=>W D>5>F< 74 D4E>< 3 =5 <5=L5, O> 30 %. 

�E=>6=V E4D4>F5D<EF<>< 
<4F5DV4?L=>-F5E=VG=>7> 
74557?5G5==O 

�<>>D<EF4==O EGG4E=<E ?D<>?44=<E E<EF5< 46F><4F<7>64=>7> 

?D>5>FG64==O (%��$) 6<D>5V6, 46F><4F<7>64=>7> ?D>7D4<G64==O 

65DEF4FV6 F4 D>5>F><5E4=VG=<E >><??5>EV6, >E=4M5=<E E<EF5<4<< 

G<E?>6>7> ?D>7D4<=>7> >5DG64==O ('��), 46F><4F<7>64=>7> 

?D>5>FG64==O ?D>F5EV6 >5D>5?5==O 45F4?5= 4?O EF6>D5==O =>6>7> 

F5E=>?>7VG=>7> GEF4F>G64==O 7 EGG4E=<<< E<EF5<4<< >5DG64==O, 

F5E=>?>7VG=<E ?D>F5EV6, >E=4M5==O F4 V=EFDG<5=FV6, 4V47=>EF<>< 

>>=EFDG>FV= F4 6<D>5V6. 

�<>>D<EF4==O EGG4E=>7> GEF4F>G64==O 6VFG<7=O=<E F4 V=>75<=<E 

6<D>5=<>V6, O>5 7=4E>4<FLEO =4 ?V4?D<T<EF64E 74EV4=>7> D57V>=G 

'>D4W=<: &�� «$D>=VGE '>D4W=4», ��& "�?5>FD>= �>?V<5D», 

��& «�>DF4», ��& <�?5>FD>=&D4=E», ��& «�>=65TD», �>E?V4=>-

<5E4=VG=<= 746>4 «�4D?4F<», ��& «�5>=V». 

%?5F<DVG=V 
E4D4>F5D<EF<>< 
V=D>D<4FV==>-
<5F>4<G=>7> 
74557?5G5==O 

�<>>D<EF4==O �VDFG4?L=>7> =46G4?L=>7> E5D54>6<M4 

�4FV>=4?L=>7> G=V65DE<F5FG «�L6V6EL>4 ?>?VF5E=V>4» (��%) F4 

46F>DEL><E D>7D>5>> ?V4DGG=<>V6, =46G4?L=<E ?>EV5=<>V6, 

<>=>7D4DV= =4G>>6>-?5447>7VG=<E ?D4FV6=<>V6 �4FV>=4?L=>7> 

G=V65DE<F5FG «�L6V6EL>4 ?>?VF5E=V>4» F4 ?D4FV6=<>V6 V=L<E 

=46G4?L=<E 74>?44V6. 

9. �>445<VG=4 <>5V?L=VEFL 

�4FV>=4?L=4 >D54<F=4 
<>5V?L=VEFL 

�4 >E=>6V 46>EF>D>==VE 4>7>6>DV6 <V6 �4FV>=4?L=<< 

G=V65DE<F5F>< «�L6V6EL>4 ?>?VF5E=V>4» F4 F5E=VG=<<< 

G=V65DE<F5F4<< '>D4W=< 

�V6=4D>4=4 >D54<F=4 
<>5V?L=VEFL 

�4 >E=>6V 46>EF>D>==VE 4>7>6>DV6 <V6 �4FV>=4?L=<< 

G=V65DE<F5F>< «�L6V6EL>4 ?>?VF5E=V>4» F4 6<M<<< =46G4?L=<<< 

74>?444<< 74DG5V6=<E >D4W= 3 ?4DF=5DV6. 

�46G4==O V=>75<=<E 
74>5G64GV6 6<M>W >E6VF< 

�>6?<65, ?VE?O 6<6G5==O >GDEG G>D4W=EL>>W <>6<. 
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2.  $�������  ���%&'  �%��&�,�-�$�$�%�����  �$��$��� 
��  �$'����  ��������&��  &�  &������  �����&���� 

�5EO7 =46G4?L=>7> =464=F465==O 74>5G64G4 6<M>W >E6VF< 

(>D54<FV6 / %) 

7 

7/? 
&<>? ?V47>F>6>< 

�5>69O7>>6V 

>><?>=5=F< 

>E6VF=L>-

?D>D5EV==>W 

?D>7D4<< 

�<5VD>>6V 

>><?>=5=F< 

>E6VF=L>-

?D>D5EV==>W 

?D>7D4<< 

�EL>7> 

74 65EL F5D<V= 

=46G4==O 

1. &<>? 7474?L=>W 

?V47>F>6>< 
68 / 28,33 6 / 2,50 74 / 30,83 

2. &<>? ?D>D5EV==>W 

?V47>F>6>< 
107,5 / 44,79 58,5 / 24,38 166/ 69,17 

�EL>7> 74 65EL F5D<V= 

=46G4==O 
175,5 / 73,12 64,5 / 26,88 240 / 100 
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3.  ��$����  ��������&  �%��&�,�-�$�$�%�����  �$��$��� 

�>4 

=/4 

�><?>=5=F< >E6VF=L>W ?D>7D4<< 

(=46G4?L=V 4<EF<??V=<, >GDE>6V ?D>5>F< (D>5>F<), ?D4>F<><, 

>64?VDV>4FV==4 D>5>F4) 

�V?L>VEFL 

>D54<FV6 

$>D<4 

?V4EG<>>6>7> 

>>=FD>?N 

1 2 3 4 

1. �5>69O7>>6V >><?>=5=F< >E6VF=L>-?D>D5EV==>W ?D>7D4<< 
1. &<>? 7474?L=>W ?V47>F>6>< 

%�1.1 �<M4 <4F5<4F<>4, 6EL>7> 

   G F><G G<E?V: 

- G4EF<=4 1 (�V=V==4 4?755D4 F4 4=4?VF<G=4 75><5FDVO, 

<4F5<4F<G=<= 4=4?V7) (E5<. 1) 

- G4EF<=4 2 (�4F5<4F<G=<= 4=4?V7 F4 4<D5D5=FV4?L=V 

DV6=O==O) (E5<. 2) 

18 
 

9 

 

9 

 

 

5>74<5= 

 

5>74<5= 

%�1.2 �=>75<=4 <>64 74 ?D>D5EV==<< E?DO<G64==O<, 6EL>7> 

   G F><G G<E?V: 

- G4EF<=4 1 (E5<. 1) 

- G4EF<=4 2 (E5<. 2) 

9 
 

6 

3 

 

 

74?V> 

5>74<5= 

%�1.3 �EF>DVO 45D646=>EFV, >G?LFGD< V F5E=V>< '>D4W=< (E5<. 1) 3 5>74<5= 

%�1.4 �4D<E=4 75><5FDVO F4 V=65=5D=4 7D4DV>4 (E5<. 1) 6 5>74<5= 

%�1.5 '>D4W=EL>4 <>64 (74 ?D>D5EV==<< E?DO<G64==O<) (E5<. 1) 3 5>74<5= 

%�1.6 %V<VO (E5<. 1) 3 74?V> 

%�1.7 &5>D5F<G=4 <5E4=V>4, 6EL>7> 

   G F><G G<E?V: 

- G4EF<=4 1 (E5<. 2) 

- G4EF<=4 2 (E5<. 3) 

10 
 

5 

5 

 

 

5>74<5= 

5>74<5= 

%�1.8 $V7<>4 (E5<. 2) 8 5>74<5= 

%�1.9 $V?>E>DVO (E5<. 3) 3 5>74<5= 

%�1.10 &5>DVO <4L<= V <5E4=V7<V6, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 4) 

- >GDE>64 D>5>F4 (E5<. 4) 

5 
 

3 

2 

 

 

5>74<5= 

74?V> 

�EL>7> 74 F<>?: 68  

2. &<>? ?D>D5EV==>W ?V47>F>6>< 
%�2.1 �?5>FD>F5E=V>4 F4 5?5>FD>?D<6>4 (E5<. 2) 5 5>74<5= 

%�2.2 �?5>FD>=V>4 F4 <V>D>?D>F5E>D=4 F5E=V>4 (E5<. 3) 5 5>74<5= 

%�2.3 �4F5DV4?>7=46EF6> F4 F5E=>?>7VO >>=EFDG>FV==<E 
<4F5DV4?V6 (E5<. 3) 

7 5>74<5= 

%�2.4 �?VD <4F5DV4?V6 (E5<. 3) 7 5>74<5= 

%�2.5 �E=>6< >E>D>=< ?D4FV F4 557?5>4 6<FFT4VO?L=>EFV (E5<. 3) 3 74?V> 

%�2.6 �6F><4F<7>64=5 ?D>5>FG64==O (E5<. 4) 8 5>74<5= 

%�2.7 �5?44=4==O >5D>5>< F<E>><, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 4) 

- >GDE>64 D>5>F4 (E5<. 4) 

6 
 
4 

2 

 

 

5>74<5= 

74?V> 

%�2.8 &5>DVO DV74==O F4 DV74?L=<= V=EFDG<5=F (E5<. 4) 5 5>74<5= 
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1 2 3 4 

%�2.9 �74T<>74<V==VEFL, EF4=44DF<74FVO F4 F5E=VG=V 
6<<VDN64==O, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 5) 

- >GDE>64 D>5>F4 (E5<. 5) 

6,5 
 

 

4,5 

2 

 

 

 

5>74<5= 

74?V> 

%�2.10 �5F4?V <4L<=, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE, G4EF<=4 1 (E5<. 5) 

- F5>D5F<G=<= >GDE, G4EF<=4 2 (E5<. 6) 

- >GDE>6<= ?D>5>F (E5<. 6) 

11 
 

4 

4 

3 

 

 

5>74<5= 

5>74<5= 

74?V> 

%�2.11 �5F4?>DV74?L=V 65DEF4F<, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 5) 

- >GDE>64 D>5>F4 (E5<. 5) 

6,5 
 

4,5 

2 

 

 

5>74<5= 

74?V> 

%�2.12 &5E=>?>7VW 764DN64==O (E5<. 5) 7 5>74<5= 

%�2.13 &5E=>?>7VO <4L<=>5G4G64==O F4 F5E=V>>-5>>=><VG=4 
>FV=>4 6<D>5=<FF6 (E5<. 5) 

6 5>74<5= 

%�2.14 �V4D>?=56<>?D<6V4 F4 7V4D>?=56<>46F><4F<>4, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 6) 

- >GDE>64 D>5>F4 (E5<. 6) 

6 
 

4 

2 

 

 

5>74<5= 

74?V> 

%�2.15 %<EF5<< '�� F5E=>?>7VG=>7> >5?44=4==O (E5<. 6) 3,5 5>74<5= 

%�2.16 �<D>5=<G4 74?G7564 ?D4>F<>4 (E5<. 7) 3 74?V> 

%�2.17 �D4>F<>4 74 F5<>N 54>4?46DEL>>W >64?VDV>4FV==>W D>5>F< 
(E5<. 8) 

3 74?V> 

%�2.18 �<>>=4==O 54>4?46DEL>>W >64?VDV>4FV==>W D>5>F< (E5<. 8) 9  

%�2.19 �4E<EF 54>4?46DEL>>W >64?VDV>4FV==>W D>5>F< (E5<. 8)   

�EL>7> 74 F<>?: 107,5  

$47>< >5>69O7>>6V >><?>=5=F< �D>7D4<<: 175,5  

2. �<5VD>>6V >><?>=5=F< >E6VF=L>-?D>D5EV==>W ?D>7D4<< 

1. &<>? 7474?L=>W ?V47>F>6>< 
��0.1 �V?L=<= 6<5VD EFG45=F4 (7474?L=<=) (E5<. 4) 3 74?V> 

��0.2 �V?L=<= 6<5VD EFG45=F4 (7474?L=<=) (E5<. 4) 3 74?V> 

�EL>7> 74 F<>?: 6  

2. &<>? ?D>D5EV==>W ?V47>F>6>< 

�<5VD>>6V >><?>=5=F< ?D>D5EV==>W ?V=VW 1 

$>5>F><5E4=VG=V E<EF5<< F4 >><??5>E< 

��1.1 �>E??G4F4FVO F4 >5E?G7>6G64==O <4L<= (E5<. 6) 4 5>74<5= 

��1.2 �4F5<4F<G=V >E=>6< D>5>F>F5E=VG=<E E<EF5< (E5<. 6) 3,5 5>74<5=  

��1.3 �=D>D<4FV==V ?D>F5E< F4 E<EF5<< G 6<D>5=<FF6V, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 7) 

- >GDE>64 D>5>F4 (E5<. 7) 

9,5 
 

7,5 

2 

 

 

5>74<5= 

74?V> 

��1.4 �=DD4EFDG>FGD4 ?>7VEF<G=<E ?D>F5EV6, 6EL>7> 

   G F><G G<E?V: 

- G4EF<=4 1 (E5<. 7) 

- G4EF<=4 2 (E5<. 8) 

6,5 
 

3,5 

3 

 

 

5>74<5= 

74?V> 
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1 2 3 4 

��1.5 �D>5>FG64==O D>5>F>F5E=VG=<E E<EF5<, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE, G4EF<=4 1 (E5<. 7) 

- F5>D5F<G=<= >GDE, G4EF<=4 2 (E5<. 8) 

- >GDE>6<= ?D>5>F (E5<. 8) 

12 
 

4 

5 

3 

 

 

5>74<5= 

5>74<5= 

74?V> 

��1.6 �D><<E?>64 D>5>F>F5E=V>4 (E5<. 7) 5 5>74<5= 

��1.7 %<EF5<< 46F><4F<7>64=>7> D>7D4EG=>G F4 ?D>5>FG64==O, 

6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 7) 

- >GDE>6<= ?D>5>F (E5<. 7) 

 
8 
 

5 

3 

 

 

 

5>74<5= 

74?V> 

��1.8 �6F><4F<74FVO 6<D>5=<G<E ?D>F5EV6 (E5<. 8) 4 74?V> 

�EL>7> 74 F<>?: 52,5  

�<5VD>>6V >><?>=5=F< ?D>D5EV==>W ?V=VW 2 

�=65=5DVO ?>7VEF<G=<E E<EF5< 

��2.1 �>E??G4F4FVO F4 >5E?G7>6G64==O <4L<= (E5<. 6) 4 5>74<5= 

��2.2 �4F5<4F<G=V >E=>6< <5E4=V>< ?V4=><=>-FD4=E?>DF=<E 
E<EF5< (E5<. 6) 

3,5 5>74<5= 

��2.3 �4=F46>?V4V=<4?L=4 F5E=V>4 (E5<. 7) 5 5>74<5= 

��2.4 �=D>D<4FV==V ?D>F5E< F4 E<EF5<< G 6<D>5=<FF6V, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 7) 

- >GDE>64 D>5>F4 (E5<. 7) 

9,5 
 

7,5 

2 

 

 

5>74<5= 

74?V> 

��2.5 �=DD4EFDG>FGD4 ?>7VEF<G=<E ?D>F5EV6, 6EL>7> 

   G F><G G<E?V: 

- G4EF<=4 1 (E5<. 7) 

- G4EF<=4 2 (E5<. 8) 

6,5 
 

3,5 

3 

 

 

5>74<5= 

74?V> 

��2.6 $>7D4EG=>> F4 >>=EFDGN64==O ?V4=><=>-FD4=E?>DF=<E 
E<EF5<, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE, G4EF<=4 1 (E5<. 7) 

- F5>D5F<G=<= >GDE, G4EF<=4 2 (E5<. 8) 

- >GDE>6<= ?D>5>F (E5<. 8) 

12 
 

 

4 

5 

3 

 

 

 

5>74<5= 

5>74<5= 

74?V> 

��2.7 %<EF5<< 46F><4F<7>64=>7> D>7D4EG=>G F4 ?D>5>FG64==O, 

6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 7) 

- >GDE>6<= ?D>5>F (E5<. 7) 

8 
 
 
5 

3 

 

 

 

5>74<5= 

74?V> 

��2.8 �6F><4F<74FVO 6<D>5=<G<E ?D>F5EV6 (E5<. 8) 4 74?V> 

�EL>7> 74 F<>?: 52,5  

�<5VD>>6V >><?>=5=F< ?D>D5EV==>W ?V=VW 3 

&5E=>?>7VW <4L<=>5G4G64==O 

��3.1 �>E??G4F4FVO F4 >5E?G7>6G64==O <4L<= (E5<. 6) 4 5>74<5= 

��3.2 &5E=>?>7VO 6<7>F>6?5==O 45F4?5= <4L<=, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE, G4EF<=4 1 (E5<. 6) 

- F5>D5F<G=<= >GDE, G4EF<=4 2 (E5<. 7) 

- >GDE>64 D>5>F4 (E5<. 7) 

12 
 

3,5 

6,5 

2 

 

 

5>74<5= 

5>74<5= 

74?V> 



 26 

1 2 3 4 

��3.3 �D>7D4<G64==O E<EF5< '�� F5E=>?>7VG=>7> >5?44=4==O 
(E5<. 7) 

3 74?V> 

��3.4 �D>5>FG64==O F4 F5E=>?>7VO 6<7>F>6?5==O 
<5F4?>DV74?L=<E V=EFDG<5=FV6, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 7) 

- >GDE>64 D>5>F4 (E5<. 7) 

10,5 
 

 

8,5 

2 

 

 

 

5>74<5= 

74?V> 

��3.5 &5E=>?>7VG=5 >E=4M5==O (E5<. 7) 5 5>74<5= 

��3.6 &5E=>?>7VG=V <5F>4< 6<D>5=<FF64 747>F>6>> 45F4?5= 
<4L<= (E5<. 7) 

3 74?V> 

��3.7 �5?44=4==O F4 ?D>7D5E<6=V <5F>4< D>D<>GF6>D5==O 
45F4?5= (E5<. 8) 

3,5 74?V> 

��3.8 �D>5>FG64==O, >D74=V74FVO, >5?44=4==O F4 FD4=E?>DF 
?V4D>74V?V6 <4L<=>5G4V6=<E ?V4?D<T<EF6 (E5<. 8) 

6 74?V> 

��3.9 %��$ DV74?L=<E V=EFDG<5=FV6, >E=4M5==O F4 
F5E=>?>7VG=<E ?D>F5EV6 (E5<. 8) 

5,5 5>74<5= 

�EL>7> 74 F<>?: 52,5  

�<5VD>>6V >><?>=5=F< ?D>D5EV==>W ?V=VW 4 

�4L<=< V F5E=>?>7VW ?4>>64==O 

��4.1 �>E??G4F4FVO F4 >5E?G7>6G64==O <4L<= (E5<. 6) 3,5 5>74<5= 

��4.2 &5E=>?>7VO ?4>G64==O F4 755DV74==O ?4>>64=>W ?D>4G>FVW 
(E5<. 6) 

4 5>74<5=  

��4.3 �=D>D<4FV==V ?D>F5E< F4 E<EF5<< G 6<D>5=<FF6V, 6EL>7> 

   G F><G G<E?V: 

- G4EF<=4 1 (E5<. 7) 

- G4EF<=4 2 (E5<. 8) 

8,5 
 

5,5 

3 

 

 

5>74<5= 

74?V> 

��4.4 �5?44=4==O 4?O 4>7G64==O <4F5DV4?V6, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 7) 

- >GDE>64 D>5>F4 (E5<. 7) 

8 
 

6 

2 

 

 

5>74<5= 

74?V> 

��4.5 �5?44=4==O F4 <4F5DV4?< 4?O 6<7>F>6?5==O G?4>>6>>, 

6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 7) 

- >GDE>64 D>5>F4 (E5<. 7) 

9 
 

 

7 

2 

 

 

 

5>74<5= 

74?V> 

��4.6 �4>G64?L=5 >5?44=4==O, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE, G4EF<=4 1 (E5<. 7) 

- F5>D5F<G=<= >GDE, G4EF<=4 2 (E5<. 8) 

- >GDE>6<= ?D>5>F (E5<. 8) 

12 
 

4 

5 

3 

 

 

5>74<5= 

5>74<5= 

74?V> 

��4.7 %<EF5<< 46F><4F<7>64=>7> D>7D4EG=>G F4 ?D>5>FG64==O 

(E5<. 7) 

3,5 74?V> 

��4.8 �6F><4F<74FVO ?D>F5EG ?4>G64==O (E5<. 8) 4 74?V> 

�EL>7> 74 F<>?: 52,5  



 27 

1 2 3 4 

�<5VD>>6V >><?>=5=F< ?D>D5EV==>W ?V=VW 5 

&5E=>?>7VW F4 GEF4F>G64==O 764DN64==O 
��5.1 �64DN64?L=V 465D5?4 6<6?5==O (E5<. 6) 3,5 5>74<5= 

��5.2 &5>DVO 764DN64?L=<E ?D>F5EV6 (E5<. 6) 4 5>74<5= 

��5.3 �64DN64==O ??46?5==O<, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 7) 

- >GDE>64 D>5>F4 (E5<. 7) 

9 
 

6 

3 

 

 

5>74<5= 

74?V> 

��5.4 �44F=VEFL 4> 764DN64==O >>=EFDG>FV==<E <4F5DV4?V6 
(E5<. 7) 

4 74?V> 

��5.5 �4?DG65==O F4 45D>D<4FVW ?D< 764DN64==V (E5<. 7) 4 5>74<5= 

��5.6 �5?44=4==O F4 F5E=>?>7VW 764DN64==O F<E>><, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 7) 

- >GDE>64 D>5>F4 (7) 

9 
 

6 

3 

 

 

5>74<5= 

74?V> 

��5.7 &5E=>?>7VG=5 GEF4F>G64==O G 764DN64?L=><G 
6<D>5=<FF6V (E5<. 7) 

4 5>74<5= 

��5.8 �<D>5=<FF6> 764D=<E >>=EFDG>FV=, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 8) 

- >GDE>6<= ?D>5>F (8) 

7 
 

4 

3 

 

 

5>74<5= 

74?V> 

��5.9 �>=FD>?L O>>EFV 764D=<E >>=EFDG>FV= (E5<. 8) 4 74?V> 

��5.10 $>7D4EG=>> V ?D>5>FG64==O 764D=<E >>=EFDG>FV= (E5<. 8) 4 5>74<5= 

�EL>7> 74 F<>?: 52,5  

�<5VD>>6V >><?>=5=F< ?D>D5EV==>W ?V=VW 6 
�V4=>6?5==O F4 ?V46<M5==O 7=>E>EFV=>>EFV 45F4?5= >>=EFDG>FV= 

��6.1 �64DN64?L=V 465D5?4 6<6?5==O (E5<. 6) 3,5 5>74<5= 

��6.2 &5>DVO 764DN64?L=<E ?D>F5EV6 (E5<. 6) 4 5>74<5= 

��6.3 �64DN64==O F<E>><, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 7) 

- >GDE>6<= ?D>5>F (E5<. 7) 

9 
 

6 

3 

 

 

5>74<5= 

74?V> 

��6.4 �44F=VEFL 4> 764DN64==O F4 =4??46?5==O >>=EFDG>FV==<E 
<4F5DV4?V6 (E5<. 7) 

4 5>74<5= 

��6.5 �5?44=4==O F4 F5E=>?>7VW 764DN64==O ??46?5==O<, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 7) 

- >GDE>6<= ?D>5>F (E5<. 7) 

9 
 

6 

3 

 

 

5>74<5= 

74?V> 

��6.6 �>65DE=56V DV7<>>-<5E4=VG=V ?D>F5E< ?D< 764DN64==V, 
=4??46?5==V F4 =4=5E5==V ?>>D<FL (E5<. 7) 

4 74?V> 

��6.7 &5E=>?>7VG=4 >E=4EF>4 764DN64?L=>7> 6<D>5=<FF64 
(E5<. 7) 

4 5>74<5= 

��6.8 �>=FD>?L O>>EFV 764DN64==O F4 6V4=>6?5==O (E5<. 8) 4 74?V> 

��6.9 �D>5>FG64==O F5E=>?>7VG=<E ?D>F5EV6 764DN64?L=>7> 
6<D>5=<FF64, 6EL>7> 

   G F><G G<E?V: 

- F5>D5F<G=<= >GDE (E5<. 8) 

- >GDE>6<= ?D>5>F (E5<. 8) 

7 
 

 

4 

3 

 

 

 

5>74<5= 

74?V> 



 28 

1 2 3 4 

��6.10 &5E=>?>7VW F4 >5?44=4==O 4?O =4?<?5==O F4 =4??46?5==O 
(E5<. 8) 

4 5>74<5= 

�EL>7> 74 F<>?: 52,5  

3. �<5VD>>6V >><?>=5=F< V=L<E >E6VF=L>-?D>D5EV==<E ?D>7D4< 

2. &<>? ?D>D5EV==>W ?V47>F>6>< 
��7.1 �V?L=<= 6<5VD EFG45=F4 (?D>D5EV==<=) 6 74?V> 

�EL>7> 74 F<>?: 6  

$47>< 6<5VD>>6V >><?>=5=F< �D>7D4<<: 58,5  

�EL>7> 74 �D>7D4<G: 240  



 29 

4.  $�$��  �&�%&�&��  ����'��'��  ��-��  �%��&� 

$>D<< 4F5EF4FVW 
74>5G64GV6 6<M>W >E6VF< 

�F5EF4FVO 74V=E=NTFLEO G D>D<V ?G5?VG=>7> 74E<EFG 

>64?VDV>4FV==>W D>5>F<. 

�<<>7< 4> 
>64?VDV>4FV==>W D>5>F< 

�64?VDV>4FV==4 D>5>F4 ?5D5454G4T D>769O74==O E>?44=>7> 

E?5FV4?V7>64=>7> 74644==O 45> ?D4>F<G=>W ?D>5?5<< ?D<>?44=>W 

<5E4=V><, M> E4D4>F5D<7GTFLEO >><??5>E=VEFN F4 =56<7=4G5=VEFN 

G<>6, V7 74EF>EG64==O< F5>DV= F4 <5F>4V6 <5E4=VG=>W V=65=5DVW. 

' >64?VDV>4FV==V= D>5>FV =5 <4T 5GF< 4>445<VG=>7> ??47V4FG, 

D45D<>4FVW F4 D4?LE<DV>4FVW. 

�64?VDV>4FV==4 D>5>F4 <4T 5GF< D>7<VM5=4 =4 >DVFV==><G E4=FV 45> 

G D5?>7<F4DVW �4FV>=4?L=>7> G=V65DE<F5FG «�L6V6EL>4 ?>?VF5E=V>4». 

�?D<?N4=5==O >64?VDV>4FV==<E D>5VF, M> <VEFOFL V=D>D<4FVN 7 

>5<565=<< 4>EFG?><, 74V=E=NTFLEO G 6V4?>6V4=>EFV 4> 6<<>7 

G<==>7> 74>>=>446EF64. 

 



 30 

5.  ��&$�&�  ����������%&�  �$��$����%  �����&��&��%&�� 
��������&��  �%��&�,�-�$�$�%�����  �$��$��� 

5.1. �4FD<FO 6V4?>6V4=>EFV ?D>7D4<=<E >><?5F5=F=>EF5= >5>69O7>>6<< 
>><?>=5=F4< >E6VF=L>-?D>D5EV==>W ?D>7D4<< 

 

%
�

1.
1 

%
�

1.
2 

%
�

1.
3 

%
�

1.
4 

%
�

1.
5 

%
�

1.
6 

%
�

1.
7 

%
�

1.
8 

%
�

1.
9 

%
�

1.
10

 

%
�

2.
1 

%
�

2.
2 

%
�

2.
3 

%
�

2.
4 

%
�

2.
5 

%
�

2.
6 

%
�

2.
7 

%
�

2.
8 

%
�

2.
9 

%
�

2.
10

 

%
�

2.
11

 

%
�

2.
12

 

%
�

2.
13

 

%
�

2.
14

 

%
�

2.
15

 

%
�

2.
16

 

%
�

2.
17

 

%
�

2.
18

 

%
�

2.
19

 

��&    "   "   "   " "   " " " " " " " " "   "  

��1 "   "   "   "    "  " "   "        "  

��2       "   " " " " "  " " " "  " " " " " " " " " 
��3 "     " " "  "                " " "  

��4 " " " " " " " " " " " " " "  " " "  " "     " " " " 
��5   "      "                 " " " " 
��6 " " " " " " " " " " " " " " " " " " " " " " " " " " " " " 
��7 " " " " " " " " " " " " " " " " " " " " " " " " " " " "  

��8  "                           " 

��9  " "  "    "       "            " " 
��10      "  "   " " " " "  " " "  " "  " " " " "  

��11     "    "                   "  

��12 " " " " " " " " " " " " " " " " " " " " " " " " " " " "  

��13 " " " " " " " " " " " " " " " " " " " " " " " " " " " "  

��14   "      "                 " " " " 
��15   "      "                 " "  " 

��16   "      "                   " " 

$�1      " " "  " " " " "   " "  "  " " "  " " "  

$�2       "   " " " " "   " " " " " "  "    "  

$�3                 " "    " "   " " "  

$�4           " "     " " "  " "  " " " " "  

$�5 "      "   "    "   " "  "  "      "  

$�6           " " "     " "       " " "  

$�7              "  " "           "  

$�8    "            " "   "        "  

$�9    "       " "   " " "  " " " "  "  " " " " 
$�10      " " "  " "  " "   " "  " " " " "  " " " " 



 31 

5.2. �4FD<FV 6V4?>6V4=>EFV ?D>7D4<=<E >><?5F5=F=>EF5= 
6<5VD>>6<< >><?>=5=F4< >E6VF=L>-?D>D5EV==>W ?D>7D4<< 

�D>D5EV==4 ?V=VO 1 

«$>5>F>F5E=VG=V E<EF5<< F4 >><??5>E<» 

 �
�

0.
1 

�
�

0.
2 

�
�

1.
1 

�
�

1.
2 

�
�

1.
3 

�
�

1.
4 

�
�

1.
5 

�
�

1.
6 

�
�

1.
7 

�
�

1.
8 

�
�

7.
1 

��&   " " " " " " " " " 

��1    " " " " " " " " 
��2   " " " " " " " " " 
��3   " " " " " " " " " 
��4 " " " " " " " " " " " 
��5 " "          

��6 " " " " " " " " " " " 
��7 " " " " " " " " " " " 
��8 " "          

��9 " "   "    "  " 
��10   "   "  "  "  

��11 " "          

��12 " " " " " " " " " " " 
��13 " " " " " " " " " " " 
��14 " "          

��15 " "          

��16 " "          

$�1    "   " "  "  

$�2   "   "  "  " " 
$�3   "   "  "  "  

$�4   "   "  "  " " 
$�5    "   "  "  " 
$�6         "  " 
$�7     "    "  " 
$�8         "  " 
$�9     "  "  "   

$�10   " " " " " " " " " 

$�%1.1   "   " "   "  

$�%1.2    "  " "  "   

$�%1.3   "  " "     " 
$�%1.4       " "    

$�%1.5       " "    

$�%1.6       " "    

$�%1.7   "       "  

$�%1.8      "  "  "  

$�%1.9   "    " "    



 32 

�D>D5EV==4 ?V=VO 2 

«�=65=5DVO ?>7VEF<G=<E E<EF5<» 

 �
�

0.
1 

�
�

0.
2 

�
�

2.
1 

�
�

2.
2 

�
�

2.
3 

�
�

2.
4 

�
�

2.
5 

�
�

2.
6 

�
�

2.
7 

�
�

2.
8 

�
�

7.
1 

��&   " " " " " " " " " 

��1    " " " " " " " " 
��2   " " " " " " " " " 
��3   " " " " " " " " " 
��4 " " " " " " " " " " " 
��5 " "          

��6 " " " " " " " " " " " 
��7 " " " " " " " " " " " 
��8 " "          

��9 " "    "   "  " 
��10   "  "  "   "  

��11 " "          

��12 " " " " " " " " " " " 
��13 " " " " " " " " " " " 
��14 " "          

��15 " "          

��16 " "          

$�1    " "   "  "  

$�2   "  " " "   " " 
$�3   "  " " "   "  

$�4   "  " " "   " " 
$�5    "    " "  " 
$�6         "  " 
$�7         "  " 
$�8         "  " 
$�9        " "   

$�10   " " " " " " " " " 

$�%2.1   "    " "  "  

$�%2.2    "   " " "   

$�%2.3         "  " 
$�%2.4     "   "    

$�%2.5     "   "    

$�%2.6       " "  "  

$�%2.7       "   "  

$�%2.8   "  "       

$�%2.9      "      

 



 33 

�D>D5EV==4 ?V=VO 3 

«&5E=>?>7VW <4L<=>5G4G64==O» 

 �
�

0.
1 

�
�

0.
2 

�
�

3.
1 

�
�

3.
2 

�
�

3.
3 

�
�

3.
4 

�
�

3.
5 

�
�

3.
6 

�
�

3.
7 

�
�

3.
8 

�
�

3.
9 

�
�

7.
1 

��&   " " " " " " " " " " 

��1     "  "    " " 
��2   " " " " " " " " " " 
��3   " " " " " " " " " " 
��4 " " " " " " " " " " " " 
��5 " "           

��6 " " " " " " " " " " " " 
��7 " " " " " " " " " " " " 
��8 " "           

��9 " "   "      " " 
��10   "  "   " " "   

��11 " "           

��12 " " " " " " " " " " " " 
��13 " " " " " " " " " " " " 
��14 " "           

��15 " "           

��16 " "           

$�1    "  " " " "    

$�2   "   " "  "   " 
$�3   " "  " " "     

$�4   " " "  " " " "  " 
$�5      " "     " 
$�6     "      " " 
$�7           " " 
$�8      "     " " 
$�9    "  "     "  

$�10   " " " " " " "   " 

$�%3.1      " " "    " 
$�%3.2   "    "   "   

$�%3.3          "   

$�%3.4    " "   "     

$�%3.5    " "        

$�%3.6      " "    " " 
$�%3.7         "    

$�%3.8     "      "  

$�%3.9    "   "      

$�%3.10        "     



 34 

�D>D5EV==4 ?V=VO 4 

«�4L<=< V F5E=>?>7VW ?4>>64==O» 

 �
�

1.
01

 

�
�

1.
02

 

�
�

4.
1 

�
�

4.
2 

�
�

4.
3 

�
�

4.
4 

�
�

4.
5 

�
�

4.
6 

�
�

4.
7 

�
�

4.
8 

�
�

7.
1 

��&   " " " " " " " " " 

��1    " " " " " " " " 
��2   " " " " " " " " " 
��3   " " " " " " " " " 
��4 " " " " " " " " " " " 
��5 " "          

��6 " " " " " " " " " " " 
��7 " " " " " " " " " " " 
��8 " "          

��9 " "   "    "  " 
��10   " "  " "   "  

��11 " "          

��12 " " " " " " " " " " " 
��13 " " " " " " " " " " " 
��14 " "          

��15 " "          

��16 " "          

$�1    "  " " "  "  

$�2   "   " " "  " " 
$�3   " "  " " "  "  

$�4   "   " " "  " " 
$�5         "  " 
$�6      " "    " 
$�7         "  " 
$�8      " " "   " 
$�9      " " "    

$�10   " " " " " "  " " 

$�%4.1      " " "    

$�%4.2      " " " "  " 
$�%4.3   " " "   "   " 
$�%4.4      " " "  "  

$�%4.5    "        

$�%4.6    "        

$�%4.7      " " "    

$�%4.8   "     "  "  

$�%4.9      " " "    

$�%4.10    "        



 35 

�D>D5EV==4 ?V=VO 5 

«&5E=>?>7VW F4 GEF4F>G64==O 764DN64==O» 

 �
�

1.
01

 

�
�

1.
02

 

�
�

5.
1 

�
�

5.
2 

�
�

5.
3 

�
�

5.
4 

�
�

5.
5 

�
�

5.
6 

�
�

5.
7 

�
�

5.
8 

�
�

5.
9 

�
�

5.
10

 

�
�

7.
1 

��&   " " " " " " " " " " " 

��1   " " " " " " " " " " " 
��2   " " " " " " " " " " " 
��3   " " " " " " " " " " " 
��4 " " " " " " " " " " " " " 
��5 " "            

��6 " " " " " " " " " " " " " 
��7 " " " " " " " " " " " " " 
��8 " "            

��9 " "           " 
��10   " " " " " " " " "   

��11 " "            

��12 " " " " " " " " " " " " " 
��13 " " " " " " " " " " " " " 
��14 " "            

��15 " "            

��16 " "            

$�1   " " " " " " " "    

$�2     " " "    "   

$�3     "   "      

$�4   "  "   " " "  "  

$�5     "  " "     " 
$�6   "    "    "   

$�7       "      " 
$�8     "   "  "   " 
$�9     "   "  "    

$�10   " " " " " " " " " " " 

$�%5.1   " " " " " " " " " " " 
$�%5.2   "  "   " " "    

$�%5.3       "    "  " 
$�%5.4    " " "  " "   "  

$�%5.5    "       "   

$�%5.6       "    "   



 36 

�D>D5EV==4 ?V=VO 6 

«�V4=>6?5==O F4 ?V46<M5==O 7=>E>EFV=>>EFV 45F4?5= V >>=EFDG>FV=» 

 �
�

1.
01

 

�
�

1.
02

 

�
�

6.
1 

�
�

6.
2 

�
�

6.
3 

�
�

6.
4 

�
�

6.
5 

�
�

6.
6 

�
�

6.
7 

�
�

6.
8 

�
�

6.
9 

�
�

6.
10

 

�
�

7.
1 

��&   " " " " " " " " " " " 

��1             " 
��2   " " " " " " " " " " " 
��3   " " " " " " " " " " " 
��4 " " " " " " " " " " " " " 
��5 " "            

��6 " " " " " " " " " " " " " 
��7 " " " " " " " " " " " " " 
��8 " "            

��9 " "           " 
��10   " " " " " "    "  

��11 " "            

��12 " " " " " " " " " " " " " 
��13 " " " " " " " " " " " " " 
��14 " "            

��15 " "            

��16 " "            

$�1   " " " " " " "     

$�2      " " "  "    

$�3     "  "       

$�4   "  "  "  "   "  

$�5     "  " "     " 
$�6   "     "  "    

$�7        "   "  " 
$�8     "  "      " 
$�9     "  "    "   

$�10   " " " " " " " " " " " 

$�%6.1     "    "  " " " 
$�%6.2      " " "      

$�%6.3   "       "   " 
$�%6.4    "    "      

$�%6.5    "    "      

 

 



 37 

6.  ��&$�&�  �������'���/  �$��$����%  $��'�,&�&��  
���'���/ ������������  ��������&��� 

�%��&�,�-�$�$�%�����  �$��$��� 

6.1. �4FD<FO 74557?5G5==O ?D>7D4<=<E D57G?LF4FV6 =46G4==O 
>5>69O7>>6<<< >><?>=5=F4<< >E6VF=L>-?D>D5EV==>W ?D>7D4<< 

 

%
�

1.
1 

%
�

1.
2 

%
�

1.
3 

%
�

1.
4 

%
�

1.
5 

%
�

1.
6 

%
�

1.
7 

%
�

1.
8 

%
�

1.
9 

%
�

1.
10

 

%
�

2.
1 

%
�

2.
2 

%
�

2.
3 

%
�

2.
4 

%
�

2.
5 

%
�

2.
6 

%
�

2.
7 

%
�

2.
8 

%
�

2.
9 

%
�

2.
10

 

%
�

2.
11

 

%
�

2.
12

 

%
�

2.
13

 

%
�

2.
14

 

%
�

2.
15

 

%
�

2.
16

 

%
�

2.
17

 

%
�

2.
18

 

%
�

2.
19

 

$�1 "                           "  

$�2        "  " " " " "   " "    "  "    "  

$�3       "   "    "      "        "  

$�4          "    "   "           "  

$�5    "            " "  " " "       "  

$�6          "       "  " " "       "  

$�7                   "       " " "  

$�8    "            " "  " " "   "  " " "  

$�9      "  "   " " "             " " "  

$�10           "          " "  "  " " "  

$�11            "         "    " " " "  

$�12                " "  "  "       "  

$�13                      " "   " " "  

$�14                 "    " " "  " " " "  

$�15               "           " " "  

$�16  " "  "    "                 " " " " 

$�17   "      "                   " " 



 38 

6.2. �4FD<FV 74557?5G5==O ?D>7D4<=<E D57G?LF4FV6 =46G4==O 
7474?L=<<< 6<5VD>>6<<< >><?>=5=F4<< >E6VF=L>-?D>D5EV==>W ?D>7D4<< 

�D>D5EV==4 ?V=VO 1 

«$>5>F>F5E=VG=V E<EF5<< F4 >><??5>E<» 

 �
�

0.
1 

�
�

0.
2 

�
�

1.
1 

�
�

1.
2 

�
�

1.
3 

�
�

1.
4 

�
�

1.
5 

�
�

1.
6 

�
�

1.
7 

�
�

1.
8 

�
�

7.
1 

$�1    "   "     

$�2       "     

$�3         "  " 
$�4       "  "   

$�5       "    " 
$�6       " "  " " 
$�7       "     

$�8     "  "  "  " 
$�9   "  "     "  

$�10   "   " " "    

$�11     "       

$�12       "  "  " 
$�13       "     

$�14        "  "  

$�15   "   "  "    

$�16 " " " " " " " " " " " 
$�17 " "          

�D>D5EV==4 ?V=VO 2 

«�=65=5DVO ?>7VEF<G=<E E<EF5<» 

 �
�

0.
1 

�
�

0.
2 

�
�

2.
1 

�
�

2.
2 

�
�

2.
3 

�
�

2.
4 

�
�

2.
5 

�
�

2.
6 

�
�

2.
7 

�
�

2.
8 

�
�

7.
1 

$�1    "    "    

$�2        "    

$�3         "  " 
$�4        " "   

$�5        "   " 
$�6     "   "  " " 
$�7        "    

$�8      "  " "  " 
$�9   "   "    "  

$�10   "  "  " "    

$�11      "      

$�12        " "  " 
$�13        "    

$�14     "     "  

$�15   "  "  "     

$�16 " " " " " " " " " " " 
$�17 " "          



 39 

�D>D5EV==4 ?V=VO 3 

«&5E=>?>7VW <4L<=>5G4G64==O» 

 

�
�

0.
1 

�
�

0.
2 

�
�

3.
1 

�
�

3.
2 

�
�

3.
3 

�
�

3.
4 

�
�

3.
5 

�
�

3.
6 

�
�

3.
7 

�
�

3.
8 

�
�

3.
9 

�
�

7.
1 

$�1    "  " "  "    

$�2       " " "    

$�3       "     " 
$�4       "      

$�5     " " "    " " 
$�6       "     " 
$�7    "  "     "  

$�8     " " "    " " 
$�9   " " " " " " "    

$�10   "          

$�11     "        

$�12    " " " "    " " 
$�13    "   " "     

$�14    " " "   " "   

$�15   " "    "  "   

$�16 " " " " " " " " " " " " 
$�17 " "           

�D>D5EV==4 ?V=VO 4 

«�4L<=< V F5E=>?>7VW ?4>>64==O» 

 

�
�

0.
1 

�
�

0.
2 

�
�

4.
1 

�
�

4.
2 

�
�

4.
3 

�
�

4.
4 

�
�

4.
5 

�
�

4.
6 

�
�

4.
7 

�
�

4.
8 

�
�

7.
1 

$�1      " " "    

$�2    "  " " "    

$�3         "  " 
$�4      " " " "   

$�5      " " "   " 
$�6      " " "  " " 
$�7    "  " " "    

$�8     " " " " "  " 
$�9   "  "     "  

$�10   "   " " "    

$�11     "       

$�12      " " " "  " 
$�13    "  " " "    

$�14    "      "  

$�15   " "        

$�16 " " " " " " " " " " " 
$�17 " "          



 40 

�D>D5EV==4 ?V=VO 5 

«&5E=>?>7VW F4 GEF4F>G64==O 764DN64==O» 

 

�
�

0.
1 

�
�

0.
2 

�
�

5.
1 

�
�

5.
2 

�
�

5.
3 

�
�

5.
4 

�
�

5.
5 

�
�

5.
6 

�
�

5.
7 

�
�

5.
8 

�
�

5.
10

 

�
�

5.
11

 

�
�

7.
1 

$�1   " " " " " " "  " " " 
$�2   " "  " "       
$�3    "  " "  " "  " " 
$�4     "  " "  "    
$�5     "   "    " " 
$�6     "   " " "   " 
$�7     "   "  "   " 
$�8     "  " "    "  
$�9   "          " 
$�10   "  "   "  " " " " 
$�11   "  "   "      
$�12     "   "  "    
$�13     "   "  " "   
$�14   "      " " " " " 
$�15     "    " "    
$�16 " " " " " " " " " " " " " 
$�17 " "            

�D>D5EV==4 ?V=VO 6 

«�V4=>6?5==O F4 ?V46<M5==O 7=>E>EFV=>>EFV 45F4?5= V >>=EFDG>FV=» 

 

�
�

0.
1 

�
�

0.
2 

�
�

6.
1 

�
�

6.
2 

�
�

6.
3 

�
�

6.
4 

�
�

6.
5 

�
�

6.
6 

�
�

6.
7 

�
�

6.
8 

�
�

6.
9 

�
�

6.
10

 

�
�

7.
1 

$�1   " " " " " " " "  " " 
$�2   " "  "  "      
$�3    "  "   "  "  " 
$�4     "  "    " "  
$�5     "  "      " 
$�6     "  "  "  "  " 
$�7     "  "    " " " 
$�8     "  "       
$�9   "     "     " 
$�10   "  "  "   " " " " 
$�11   "  "  "     "  
$�12     "  "    "   
$�13     "  "   " " "  
$�14   "      " " "  " 
$�15       "  "  "   
$�16 " " " " " " " " " " " " " 
$�17 " "            



 41 

6.3. �4FD<FV 74557?5G5==O ?D>7D4<=<E D57G?LF4FV6 =46G4==O 
6<5VD>>6<<< >><?>=5=F4<< >E6VF=L>-?D>D5EV==>W ?D>7D4<< 

�D>D5EV==4 ?V=VO 

1 «$>5>F>F5E=VG=V E<EF5<< F4 >><??5>E<» 

 �
�

1.
01

 

�
�

1.
02

 

�
�

1.
1 

�
�

1.
2 

�
�

1.
3 

�
�

1.
4 

�
�

1.
5 

�
�

1.
6 

�
�

1.
7 

�
�

1.
8 

�
�

7.
1 

�$�1.1    "   "     

�$�1.2       " "    

�$�1.3     "       

�$�1.4      " " "  " " 

�$�1.5      "  "  "  

�$�1.6       "  "  " 

�$�1.7       " "    

�$�1.8    "   "     

�$�1.9         "  " 

�$�1.10   "       "  

�D>D5EV==4 ?V=VO 2 

«�=65=5DVO ?>7VEF<G=<E E<EF5<» 

 �
�

1.
01

 

�
�

1.
02

 

�
�

2.
1 

�
�

2.
2 

�
�

2.
3 

�
�

2.
4 

�
�

2.
5 

�
�

2.
6 

�
�

2.
7 

�
�

2.
8 

�
�

7.
1 

�$�2.1       " "    

�$�2.2       " "    

�$�2.3    "     "  " 

�$�2.4     "   "    

�$�2.5       " "    

�$�2.6       "   "  

�$�2.7        "    

�$�2.8   "       "  

�$�2.9     "       

�$�2.10         "   

 



 42 

�D>D5EV==4 ?V=VO 3 

«&5E=>?>7VW <4L<=>5G4G64==O» 

 �
�

1.
01

 

�
�

1.
02

 

�
�

3.
1 

�
�

3.
2 

�
�

3.
3 

�
�

3.
4 

�
�

3.
5 

�
�

3.
6 

�
�

3.
7 

�
�

3.
8 

�
�

3.
9 

�
�

7.
1 

�$�3.1    "  " "     " 

�$�3.2    "       "  

�$�3.3    "         

�$�3.4   "          

�$�3.5      "       

�$�3.6       "     " 

�$�3.7    "  "     "  

�$�3.8        "     

�$�3.9     "        

�$�3.10         "    

�$�3.11          "   

�D>D5EV==4 ?V=VO 4 

«�4L<=< V F5E=>?>7VW ?4>>64==O» 

 �
�

1.
01

 

�
�

1.
02

 

�
�

4.
1 

�
�

4.
2 

�
�

4.
3 

�
�

4.
4 

�
�

4.
5 

�
�

4.
6 

�
�

4.
7 

�
�

4.
8 

�
�

7.
1 

�$�4.1      " " "    

�$�4.2      " " " "  " 

�$�4.3     "       

�$�4.4     "     "  

�$�4.5    "        

�$�4.6      " " "    

�$�4.7   "         

�$�4.8     " " " "    

�$�4.9    "        

�$�4.10         "  " 



 43 

�D>D5EV==4 ?V=VO 5 

«&5E=>?>7VW F4 GEF4F>G64==O 764DN64==O» 

 �
�

1.
01

 

�
�

1.
02

 

�
�

5.
1 

�
�

5.
2 

�
�

5.
3 

�
�

5.
4 

�
�

5.
5 

�
�

5.
6 

�
�

5.
7 

�
�

5.
8 

�
�

5.
9 

�
�

5.
10

 

�
�

7.
1 

�$�5.1    " " " " "  "   " 

�$�5.2     "  " " " "  "  

�$�5.3   "  "   " " " " "  

�$�5.4   "  "   " " " "  " 

�$�5.5    " " " " " " " " " " 

�$�5.6   "  "   " " "   " 

�$�5.7   "      "    " 

�$�5.8    " " " " "      

�$�5.9     " "  "   " " " 

�$�5.10   "   "     "   

�D>D5EV==4 ?V=VO 6 

«�V4=>6?5==O F4 ?V46<M5==O 7=>E>EFV=>>EFV 45F4?5= V >>=EFDG>FV=» 

 �
�

1.
01

 

�
�

1.
02

 

�
�

6.
1 

�
�

6.
2 

�
�

6.
3 

�
�

6.
4 

�
�

6.
5 

�
�

6.
6 

�
�

6.
7 

�
�

6.
8 

�
�

6.
9 

�
�

6.
10

 

�
�

7.
1 

�$�6.1    " "  " "  "  " " 

�$�6.2     " " " "    "  

�$�6.3   "  "  " "   " " " 

�$�6.4   "  "  "  " " " " " 

�$�6.5    " "  "     " " 

�$�6.6   "  " " "    " " " 

�$�6.7   "    "  " "  "  

�$�6.8    " "  "  "  "  " 

�$�6.9     " "  "  "    

�$�6.10   "      " " "   

�$�6.11       "       

 
 



 44 

7.  %&$'�&'$��-����'��  %%���  �%��&�,�-�$�$�%����� �$��$���  «131  �$�������  ��%�����» 

�D>D5EV==4 ?V=VO 1 «$>5>F><5E4=VG=V E<EF5<< F4 >><??5>E<» 

 



 45 

�D>D5EV==4 ?V=VO 2 «�=65=5DVO ?>7VEF<G=<E E<EF5<» 

 



 46 

�D>D5EV==4 ?V=VO 3 «&5E=>?>7VW <4L<=>5G4G64==O» 

 



 47 

�D>D5EV==4 ?V=VO 4 «�4L<=< V F5E=>?>7VW ?4>>64==O» 

 



 48 

�D>D5EV==4 ?V=VO 5 «&5E=>?>7VW F4 GEF4F>G64==O 764DN64==O» 

 



 49 

�D>D5EV==4 ?V=VO 6 «�V4=>6?5==O F4 ?V46<M5==O 7=>E>EFV=>>EFV 45F4?5= V >>=EFDG>FV=» 

 



 50 

8.  ��$���$�%'����/  &�  �������/  �$���&�� ��&%, 
�&$�����%  '  ����%  �%��&�,��  �$��$���  �����&���� 

�����,���  �������$�  (�����,���  %��&����%&�) 

8.1. $>7?>4V? =46G4?L=>7> =464=F465==O 74>5G64GV6 6<M>W >E6VF<, 
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��5.8 �<D>5=<FF6> 

764D=<E 

>>=EFDG>FV=, 

D47>< 7 �� 

7 ��5.9 �<D>5=<FF6> 

764D=<E 

>>=EFDG>FV=, 

D47>< 7 �� 

7   

��5.9 �>=FD>?L O>>EFV 

764D=<E 

>>=EFDG>FV= 

4 ��5.10 �>=FD>?L O>>EFV 

764D=<E 

>>=EFDG>FV= 

4   

��5.10 $>7D4EG=>> V 

?D>5>FG64==O 

764D=<E 

>>=EFDG>FV= 

4 ��5.11 $>7D4EG=>> V 

?D>5>FG64==O 

764D=<E 

>>=EFDG>FV= 

4   

�EL>7> 74 F<>?: 52,5 �EL>7> 74 F<>?:  12   
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1 2  4 5 6 7 8 

�<5VD>>6V >><?>=5=F< 5?>>G (?D>D5EV==>W ?V=VW) 6 
«�V4=>6?5==O F4 ?V46<M5==O 7=>E>EFV=>>EFV 45F4?5= >>=EFDG>FV=» 

��6.1 �64DN64?L=V 

465D5?4 6<6?5==O 

3,5 ��6.1 �64DN64?L=V 

465D5?4 6<6?5==O 

3,5   

��6.2 &5>DVO 

764DN64?L=<E 

?D>F5EV6 

4 ��6.2 &5>DVO 

764DN64?L=<E 

?D>F5EV6 

4   

��6.3 �64DN64==O 

F<E>><, 

D47>< 7 �$ 

9 ��6.3 �64DN64==O 

F<E>><, 

D47>< 7 �$ 

6,5   

��6.4 �44F=VEFL 4> 

764DN64==O F4 
=4??46?5==O 

>>=EFDG>FV==<E 

<4F5DV4?V6 

4 ��6.4 �44F=VEFL 4> 

764DN64==O F4 
=4??46?5==O 

>>=EFDG>FV==<E 

<4F5DV4?V6 

3,5   

   ��6.5 �><?9NF5D=V 

F5E=>?>7VW ?D>F5EV6 

6V4=>6?5==O F4 

7<VF=5==O 5?5<5=FV6 
>>=EFDG>FV= 

4,5   

��6.5 �5?44=4==O F4 

F5E=>?>7VW 
764DN64==O 

??46?5==O<, 

D47>< 7 �$ 

9 ��6.6 �5?44=4==O F4 

F5E=>?>7VW 
764DN64==O 

??46?5==O<, 

D47>< 7 �$ 

7,5   

��6.6 �>65DE=56V DV7<>>-
<5E4=VG=V ?D>F5E< 

?D< 764DN64==V, 

=4??46?5==V F4 
=4=5E5==V ?>>D<FL 

4 ��6.7 �>65DE=56V DV7<>>-
<5E4=VG=V ?D>F5E< 

?D< 764DN64==V, 

=4??46?5==V F4 
=4=5E5==V ?>>D<FL 

3,5   

��6.7 &5E=>?>7VG=4 

>E=4EF>4 

764DN64?L=>7> 
6<D>5=<FF64 

4 ��6.8 &5E=>?>7VG=4 

>E=4EF>4 

764DN64?L=>7> 
6<D>5=<FF64 

4,5   

��6.8 �>=FD>?L O>>EFV 

764DN64==O F4 

6V4=>6?5==O 

4 ��6.9 �>=FD>?L O>>EFV 

764DN64==O F4 

6V4=>6?5==O 

4   

��6.9 �D>5>FG64==O 

F5E=>?>7VG=<E 

?D>F5EV6 
764DN64?L=>7> 

6<D>5=<FF64, 

D47>< 7 �� 

7 ��6.10 �D>5>FG64==O 

F5E=>?>7VG=<E 

?D>F5EV6 
764DN64?L=>7> 

6<D>5=<FF64, 

D47>< 7 �� 

7   

��6.10 &5E=>?>7VW F4 
>5?44=4==O 4?O 

=4?<?5==O F4 

=4??46?5==O 

4 ��6.11 �5?44=4==O F4 
F5E=>?>7VW 4?O 

=4?<?5==O F4 

=4??46?5==O 

4   

 �EL>7> 74 F<>?: 52,5  �EL>7> 74 F<>?: 52,5   
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1 2  4 5 6 7 8 

3. �<5VD>>6V >><?>=5=F< V=L<E >E6VF=L>-?D>D5EV==<E ?D>7D4< 

2. &<>? ?D>D5EV==>W ?V47>F>6>< 
��7.1 �V?L=<= 6<5VD 

EFG45=F4 

(?D>D5EV==<=) 

6 ��7.1 �V?L=<= 6<5VD 
EFG45=F4 

(?D>D5EV==<=) 

6   

 �EL>7> 74 F<>?: 6  �EL>7> 74 F<>?: 6   

$47>< 
6<5VD>>6V >><?>=5=F< 
�D>7D4<<: 

 
 

64,5 

$47><  
6<5VD>>6V >><?>=5=F< 
�D>7D4<<: 

 
 

64,5 
  

$47>< 74 =>D<4F<6=<< 
F5D<V=>< =46G4==O 
(>D54<FV6): 

240 $47>< 74 E>>D>G5=<< 
F5D<V=>< =46G4==O 
(>D54<FV6): 

180 �<7=4=> F4 
?5D574D4E>64-
=> (>D54<FV6): 

60 

* �476< =46G4?L=<E >><?>=5=FV6 F4 >V?L>VEFL >D54<FV6 4?O >>D5<<E 4<EF<??V= <>6GFL 6V4DV7=OF<EO 6V4 

??4=G 7 =>D<4F<6=<< F5D<V=>< =46G4==O 74 G<>6, M> 1) 6>=< 74557?5GGNFL D>D<G64==O F<E E4<<E 

>><?5F5=F=>EF5=, ?D>7D4<=<E D57G?LF4FV6 =46G4==O F4 2) EG<4D=4 >V?L>VEFL >D54<FV6 ?5D574D4E>64=<E 
>><?>=5=FV6 DV6=4 60. 
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9.  ����� %&$'�&'$� &� ���%&' 
�%��&�,�-�$�$�%����� �$��$��� 

9.1. �<V=< EFDG>FGD< F4 7<VEFG 6V4=>E=> ��� 2020 D. 

1. �<V=5=> �4D4=F4 ���. 

2. �=5E5=> 7<V=< G E>?44 $>5>G>W 7DG?< =4G>>6>-<5F>4<G=>W >><VEVW E?5FV4?L=>EFV 

131 «�D<>?44=4 <5E4=V>4» �4FV>=4?L=>7> G=V65DE<F5FG «�L6V6EL>4 ?>?VF5E=V>4». 

3. �<V=5=> =476< >E6VF=VE >><?>=5=F %�1.8, %�2.13. 

4. �<?GG5=> >E6VF=V >><?>=5=F< ��5.5 V ��6.5 (4<6. ���-2020). 

5. �E6VF=N  >><?>=5=FG %�2.5 ?5D5=5E5=> 7 E5<5EFDG 5 G E5<5EFD 3. 

6. �<?GG5=> >GDE>6G D>5>FG >E6VF=L>W >><?>=5=F< %�2.4. 

7. �<V=5=> >V?L>VEFL >D54<FV6 >E6VF=VE >><?>=5=F %�2.3, %�2.4, %�2.9, %�2.11, 

%�2.13, ��1.1, ��1.2, ��2.1, ��2.2, ��3.1, ��3.2, ��41, ��4.2, ��5.3 3 ��5.7,      

��6.3 3��67. 

8. 'F>G=5=> ?D>7D4<=V D57G?LF4F< =46G4==O (�$�) 4?O ?D>D5EV==<E ?V=V= 

>E6VF=L>-?D>D5EV==>W ?D>7D4<<. 

9. �=5E5=> 7<V=< G <4FD<FV 6V4?>6V4=>EFV ?D>7D4<=<E >><?5F5=F=>EF5= >E6VF=V< 

>><?>=5=F4< >E6VF=L>-?D>D5EV==>W ?D>7D4<<. 

10. �=5E5=> 7<V=< G <4FD<FV 74557?5G5==O ?D>7D4<=<E D57G?LF4FV6 =46G4==O 

6V4?>6V4=<<< >E6VF=V<< >><?>=5=F4<< >E6VF=L>-?D>D5EV==>W ?D>7D4<<. 

11. �=>6?5=> EFDG>FGD=>-?>7VG=V EE5<< ?D>D5EV==<E ?V=V= >E6VF=L>-?D>D5EV==>W 

?D>7D4<<. 

12. �=>6?5=> >?<E< ?5D574D4EG64==O F4 6<7=4==O >D54<FV6 ��&%, >FD<<4=<E G 

<564E >E6VF=L>-?D>D5EV==>W ?D>7D4<< ?V47>F>6>< <>?>4L>7> 54>4?46D4 (<>?>4L>7> 

E?5FV4?VEF4). 

9.2. �<V=< EFDG>FGD< F4 7<VEFG 6V4=>E=> ��� D544>FVW 2022 D. 

�V4?>6V4=> 4> $>7?>DO465==O �'�� 758 6V4 21.08.2024 D. «�D> >=>6?5==O 

>E6VF=VE ?D>7D4<» =4 6<>>=4==O �4>47G ��� 6V4 13.06.2024 D>>G 7 842 «�D> 6=5E5==O 

7<V= 4> 45O><E EF4=44DFV6 6<M>W >E6VF<», 4> >E6VF=L>W ?D>7D4<< 6=5E5=> =4EFG?=V 7<V=<: 

1. �>7<FVN «�474?L=V >><?5F5=F=>EFV» D>74V?G 6 «�D>7D4<=V >><?5F5=F=>EFV» 

G4EF<=< 1 «�D>DV?L >E6VF=L>-?D>D5EV==>W ?D>7D4<< 54>4?46D4 7V E?5FV4?L=>EFV 

131 «�D<>?44=4 <5E4=V>4» 4>?>6=5=> ?G=>F>< 17 F4>>7> 7<VEFG: 

«��16. �44F=VEFL GE64?N64F< DVL5==O F4 4VOF<, 4>FD<<GNG<EL ?D<=F<?G 

=5?D<?GEF<<>EFV >>DG?FVW F4 5G4L-O><E V=L<E ?D>O6V6 =54>5D>G5E=>EFV». 

2. $>74V? 7 «�D>7D4<=V D57G?LF4F< =46G4==O» G4EF<=< 1 «�D>DV?L >E6VF=L>-

?D>D5EV==>W ?D>7D4<< 54>4?46D4 7V E?5FV4?L=>EFV 131 «�D<>?44=4 <5E4=V>4» 4>?>6=5=> 

?G=>F>< 17 F4>>7> 7<VEFG: 
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«$�17. �=4F< >E=>6< 74?>5V74==O >>DG?FVW, EGE?V?L=>W F4 4>445<VG=>W 

4>5D>G5E=>EFV =4 DV6=V, =5>5EV4=><G 4?O D>D<G64==O =5F5D?<<>EFV 4> 

>>DG?FVW F4 ?D>O6V6 =54>5D>G5E=>W ?>654V=>< E5D54 74>5G64GV6 >E6VF< F4 6<VF< 

74EF>E>6G64F< ïx 6 ?D>D5EV==V= 4VO?L=>EFV». 

3. ' G4EF<=V 5 «�4FD<FV 6V4?>6V4=>EFV ?D>7D4<=<E >><?5F5=F=>EF5= >><?>=5=F4< 

>E6VF=L>-?D>D5EV==>W ?D>7D4<<» 4>546?5=> ��16, O>G 74557?5G5=> >><?>=5=F4<<: 

%�1.3, %�1.9, %�2.18, %�2.19, ��1.01 F4 ��1.02. 

4. ' G4EF<=V 6 «�4FD<FV 74557?5G5==O ?D>7D4<=<E D57G?LF4FV6 =46G4==O 

6V4?>6V4=<<< >><?>=5=F4<< >E6VF=L>-?D>D5EV==>W ?D>7D4<<» 4>546?5=> $�17, O>G 

74557?5G5=> >><?>=5=F4<<: %�1.3, %�1.9, %�2.18, %�2.19, ��1.01 F4 ��1.02. 
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10. ��&�$�&'$� 

1. �4>>= '>D4W=< «�D> >E6VFG» 3 https://zakon.rada.gov.ua/laws/show/2145-19. 

2. �4>>= '>D4W=< «�D> 6<MG >E6VFG» 3 

https://zakon.rada.gov.ua/laws/show/1556-18. 

3. �>EF4=>64 �45V=5FG �V=VEFDV6 '>D4W=< 7 1341 6V4 23.11.2011 «�D> 

74F65D465==O �4FV>=4?L=>W D4<>< >64?VDV>4FV=» V7 7<V=4<<, 6=5E5=<<< 77V4=> 7 

�>EF4=>6>N �45V=5FG �V=VEFDV6 '>D4W=< 7 509 6V4 12.06.2019 3 

https://zakon.rada.gov.ua/laws/show/1341-2011-%D0%BF. 

4. �>EF4=>64 �45V=5FG �V=VEFDV6 '>D4W=< 7 266 6V4 29.04.2015 «�D> 

74F65D465==O ?5D5?V>G 74?G75= 7=4=L V E?5FV4?L=>EF5=, 74 O><<< 74V=E=NTFLEO 

?V47>F>6>4 74>5G64GV6 6<M>W >E6VF<» V7 7<V=4<<, 6=5E5=<<< 77V4=> 7 �>EF4=>64<< 

�45V=5FG �V=VEFDV6 '>D4W=< 7 674 6V4 27.09.2016 V 7 53 6V4 01.02.2017 3 

https://zakon.rada.gov.ua/laws/show/266-2015-%D0%BF. 

5. �4>47 �V=VEF5DEF64 >E6VF< V =4G>< '>D4W=< 7 600 6V4 01.06.2016 

«�5F>4<G=V D5>><5=44FVW M>4> D>7D>5?5==O EF4=44DFV6 6<M>W >E6VF<» V7 7<V=4<< 

6V4?>6V4=> 4> =4>47G �V=VEF5DEF64 >E6VF< V =4G>< '>D4W=< 7 1648 6V4 21.12.2017. 

6. �4>47 �V=VEF5DEF64 >E6VF< V =4G>< '>D4W=< 7 865 6V4 20.06.2019 «�D> 

74F65D465==O EF4=44DFG 6<M>W >E6VF< 74 E?5FV4?L=VEFN 131 «�D<>?44=4 <5E4=V>4» 

4?O ?5DL>7> (54>4?46DEL>>7>) DV6=O 6<M>W >E6VF<». 

7. �4FV>=4?L=<= >?4E<DV>4F>D '>D4W=<: «�?4E<DV>4F>D ?D>D5EV=» 

�� 003:2010. 3 �.: �<446=<FF6> «%>FV=D>D<», 2010. 


